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1. SSC CPO SI EXAM PAPER-2018
Exam Time : 10:00 AM - 12:00 PM
Exam Date :12/03/2019

(%]

The efficiencies of A, B and C are in the ratio 4 : 5 : 6.
Working together. they can complete a work in 12 days.
In how many days will A alone be able to complete that
work?

(1) 30 2) 45

3) 40 4 36

A sphere of radius 6 cm is melted and recast into spheres
of radius 2 cm each. How many such spheres can be
made? ;

(O 25 ) 36
(3) 24 @ 27
If the six digit number 4x4)96 is divisible by 88, then
what will be the value of (x + 2y)?
(H 11 2) 12
3) 13 4) 10
If A’s income is 40 % more than the income of B. then
what percentage of B’s income is less than income of A?

4 5
(1 277% ) 28—7—%

4
G 272% @) 282%

If a train runs at 60 km/h, it reaches its destination 15
minutes late. But, if it runs at 80 km/h. it is late by 7

10:

minutes only. The right time for the train to cover its

journey is:
(1) 17 minutes - (2) 18 minutes
(3) 20 minutes (4) 21 minutes

From the top of a 10 m high building, the angle of
elevation of the top of a tower is 60° and the angle of

2
depression of the foot of the tower ¢ is ¢ = 3> such that
tan. What is the height of the tower to nearest metres?
(1) 35m (2) 36m
3) 34m 4) 33m

(1) 13.6%

A sum off 20,000 is invested for 15 months at the
interest of 10% per annum compounded half yearly. What
is the percentage gain, correct to one decimal place, at
the end of 15 months?

(2) 13.4%

3) 13.0% ; @ 12.5%

In the given histogram, what is the mean height of all
students correct to one decimal place?

18
16

14
12
8
6
4
2
0

100-105 105-110 110-115 115-120 120-125 125-130

Number of Students
=
o

Height Class
(1) 116.8cm (2) 1162 cm
(3) 115.6cm (4) 114.7 cm

PA and PB are two tangents to a circle with centre O.
from a point P outside the circle. A and B are points on
the circle. If £ APB =40°, then £ OAB is equal to:
(1) 20° (2) 40° '

3) 25° (4) 50°

Two pipes A and B can fill a tank in 6 hours and 9 hours
respectively. They are opened alternately for 1 hour each,

starting with pipe A first. In how many hours will the
tank be filled? -

(1 6 @) 5
(2 4 @ 7
Instructions

Read the given pie-chart and answer the questions below.

Degree of Cost incurred in different
Expenditure (Total ¥4,50,000)

M Steel
Bl Cement
M 8rick
H Labour
" [ Miscellaneous




‘hat is the total expendlture (m percent) on labour

charges?
25% 2) 30%
3) 18% 4) 20%.
22 expenditure on steel is what percent ofthe expendlture
»n cement?
1) 55% (2) "40%
3 50% 4 45%
k> or(AMBC) 9 f
T AABC ~ AQPR, mfz,AC= 12 cm, AB =
8 ecm and BC = 15 cm then PR is eqvual‘ to:
1) 12¢cm : 2) "Scm ‘
20 :
3) 3 om (4) lecm-

in an examination, 54 % of the candidates passed in
science and 42 % failed in mathematics. If 32% failed in
coth 14 subjects, what percentage passed in both
subjects?

1) 32% (2) 56%

3) 44% 4 48%

A sum of ¥15,000 is invested partly at 12% per annum
znd the remaining at 10% per annum simple interest. If
the total interest at the end of 2 years is ¥3,344 how
much money was invested at 10% per annum :

(1) 6,600 (2) 6,400

3) %6,200 (4) %6,500
The side of a rhombus is 5 ¢m and-one of its diaconal is
8 cm. What is the area of the rhvom,bus?

1) 40 cm? (2) 20 cm?

3) 30cm? 4) 24 cm?

In the given bar graph, in which college the difference
oetween the percentage of boys and girls is maximum,
oy taking total number of students as base for that
college?

Number of Boys and Girls in College A, B.€, Dand E
200 HBoys MGirls 7s
700
.‘:3 600 -
= 500
; 400 = g
Z 200
2 200
100
A B 2 D E
105

18.

19.

20.

21

(D) A @ E
3 B 4 @ D
In the given histogram. in which class does the median
height of the students lie?
718 17
16 . a8 :
e i = : 13
§ 12 11 o :
3 10+ i Bt
P
= 4 52 :
S :
0 = x
100-105 105-110 110-115 115-120 120-125 125130 -
. . Height Class
(1) 105-110 (2) 110-115
= (3) 115-120 4) 120-125
Two numbers are in the ratio 4 : 5. If their HCF is 16.
then the sum of these two numbers is:
(1 150 2) 160
(3) 124 4) 144
43 4
Aies L h -
i of 7 5 XIO 5 is equal to:
iy ' 41
(i @ =
3 e
g @ 3
What is the sum of digits of the least number. which
when divided by 15, 18 and 24 leaves the remainder § in
each case and is also divisible by 132
(1) 18 2) 16
3) 15 @ 17
A shopkeeper marks his aoods at a price such that after

103

23

24.

giving a discount of 25 % he gains 20%. If the cost price
of the article is ¥460, what is its marked price?

(1) %736 . (2) 2725

(3) %748 (4) T752

I (x—5P+(x—6\+(x=7P=3(x=-5)(r— 6) (x—17),
then what is the value of x?

(10 Sy () 5

(3) 18 4 6

A shopkeeper spld two articles for 29471 each. On c one,
he gained 23% and on the other, he lost 23%. What is
the overall percentage gain or loss?

(1) 5.29% gain (2) 5.29% loss

(3) 6.29% loss (4) 6.29% gain

— P
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25.

26,

250

28.

30.

31.

In a class of 50 students. 40% are girls. The average
weight of the boys is 62 kg and that of the girls is 58 kg.
What is the average weight (in kg) of the whole class?

(1) 60.4 (2) 60.2
3) 60.8 4) 60.6
The radius of a cylinder is increased by 150 cm and its
height is decreased by 20 cm. What is the percentage 1.
increase in its volume? '
(1) 80% (2) 400%
3) 500% (4) 600%
sin?24°+sin%66° . » 5 e e Gy
The value of [m+sm 61°+c0s61°sin29° | {g
equal to:
(H 1 ) 3
3 0 4) 2
If tanx = cot (45° + 2x) , then what is the value of x?
(1) 45° (2) 20° :
33.
@) 15° @ =
A, B and C started a business by investing ¥55,000,
65,000 and 75,000 respectively. A is a working 36
partner and gets 20% of the profit and the remaining is =
distributed in the proportion of their investments. If total
profit is ¥87,750, what is the share of A?
(1) 23,000 2) ¥37,350
(3) 27,000 4) 37,500
In the given bar graph, what is the average number of
girls in all colleges?
Number of Boys and Girls in College A, B,C, D and E.
800 % MBoys MGirds o i
700 *
2 600 -
*S 500 -
% 400
fé 300 |
2 200
100 37.
0 : ;
A B ¢ D E
(1) 3550 (2) 560
(3) 540 (4) 600
in AABC, £ A=50° Insides AB and AC are produced
to the point D and E. If the bisectors of ~CBD and
£ BCE meet at the point O, then £ BOC is equal to:
106

32,

{L: 55° 2 715°

(3) 65° (4) 40°

The successive discounts of 20%. 10 % and 15 % is
equivalent to a single discount of:

(1) 422% 2) 43.5%

3) 388% (4) 44.5%

What is the sum of the mean proportional between 10.8
and 4.8 and the third proportional of 2 and 4?

(1) 10.2 2) 11.2

3) 82 4) 152

The square root of which of the following is a rational
number?

(1) 6250.49

(2) 1250.49

(3) 5768.28

(4) 1354.24

1 o
If x + o =5, then x> + 2 s equal to:

() 125 (2) 130

() 145 4 110 ‘
In the given histogram, what percentage of students have
height in the interval of 105 - 110?

18

: 17
15
14
14 13
12 1
19

10 :

8

6

4

2

0

100-105 105-110 110-115 115-120 120-125 125-130

Number of Students

Height Class
(1) 17% () 16.5%
(3) 17.5% 4) 18%

The sides of a triangle are 10 cm, 24 cm and 26 cm. At
each of its vertices, circles of radius 3.5 cm are drawn.
What is the area of the triangle excluding the portion

» P 2
covered by the sectors of the circles? (’f = _7‘)

(1) 100.75 cm?
(3) 75.75 cm?

(2) 81.5cm®
(4) 78.25 cm?
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38.

39.

409

41.

42.

43.

44.

(1) 10,000

In the given bar graph, what is the ratio of the total boys
and girls in all 5 colleges?

Number of Boys and Girls in College A, B,C, Dand €
800 ©  MBoys MGids
700

£ 600 -
g 500 -
% 400 -
_.g 300 -
= 200
100 3:
0 i
E A 8 & 1] £
) 13:12 @) 14: 15
3) 15:14 “4) 12:13 ,
If 2 — b*=208 and a — b, then (a+b)’—ab is equal to:
(1) 42 2) 52
(3) 32 4) 38

675x675% 675 +325%325x325 42
/67.5%61.5+32.5%32.5- 67.5x32.5 1> cqualto:

(2) 100
(3) 1,00,000 (4) 1,000
A ladder leaning against a wall makes an angle ¢ with

3
the horizontal ground such that tan @ = 1 If the foot of

the ladder is 5 m away from the wall, what is the length
of the ladder?

(1) 4.5m (2) 625m
(3) 525m 4) 3.75m
3 ‘
92*{2%+{4§*[2%+%]H isequal to : -
(1) 4 )3
15 17
3= @ -

ABCD is a cyclic quadrilateral such that AB is a diameter
of the circle circumscribing it and angle ADC = 140°.
Then angle BAC is equal to:

(1) 60° {2) 38°
(3) 50° 4 40°
In the given pie-chart, what is the ratio of the total

expenditure on steel, cement and bricks to the total
expenditure on labour and miscellaneous expenses?

45.

46.

47.

48.

49.

107

Degree of Cost incurred in different
Expenditure (Total %4,50,000)

M Stee!

Cement

[ Brick

H Labour

[ Miscellaneous

(2) 9:11
(3)-3:7 4 3:5
24 persons working 8 hours a day can complete 2 units

- ofawork in 10 days. How many persons are required to

complete 4 units of that work, if they work 6 hours a day
for 16 days?

(1) 40 2) 36

3) 48 4 32

The average of 16 numbers is 43. The average of the
first 7 numbers is 45 and the average of the next 6
n uwu m b ‘™pumberis 1l lgssthan the 15
number and is 5 more than the 16% number, then the
average of the and 16" number is:

(1) 48.5 (2) 48

(3) 475 (4) 49

Pipes A and B can fill a tank in 6 hours and 9 hours -
respectively and pipe C can empty the full tank in 12
hours. If all three pipes are opened together when a tank
is empty, in how many hours will 35% of the tank be
filled?

(1) 1.9 ) 1.6

3) 1.1 “ 1.8

A boat can go 30 km downstream and 24 km upstream
in 2 hours 27 minutes. Also, it can £0 20 on downstream
and 8 km upstream in 74 minutes. What is the speed of
the boat in still water in km/h?

(1 22 (2 18

(3) 20 % 24

The price of sugar has decreased by 15%. By what

percentage can a person increase the consumption so that
there is no change in the expenditure?

300 50
e o o

20 300

—0 —_— 0/ .
3 T% 4 =%

#
2

he
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50.

5 cubes, each of edge 4 cm, are joined end to end. What
is the total surface area of the resulting cuboid?

(1) 486 cm? Q) 526cm* £
(3) 352cm? (4y 720cm? '

@2 @ @G |4 @ 5 &)

@7 @ @19 @] 10

11.

ot o llaegl 0! 15

16.

@ | 17. @ 18. (2) 19. 4 | 20.Q2)

21,

@) M 23 .0 25@)

26.

() . @] 283 ]2 @] 30 0Q

131.

3) O @ 3 @) e

36.

3) @ | 8@ |39 @] 4.0

41.

D) Lo B |4 @] 50

46.

48.

@ | 47. @ M | 49 @} 5.0

2. SSC CPO SI EXAM PAPER-2018
Exam Time :3:00 PM - 5:00 PM -
Exam Date :12/03/2019

B3 1

Pipes A and B can fill a tank in 6 hours and 8 hours ‘
respectively and pipe C can empty the full tank in 12
hours. All three pipes are opened together. but pipe A is
closed after 3 hours. In how many hours will the
remaining part of the tank be filled?

(1) 10 2 9

@ 12 ’
A sum of 12,800 is invested partly‘at 15% per annum i
and the remaining at 12% per annum simple interest. If
the total interest at the end of 3 years. is ¥5.085. then
how much money was mvested at 15% per annum?

(1) 5,300 () %7, 500

(3) 5,800 4 ?5 200

A ladder leanmg agamsf a wall makes an angle 0 with 9.

the horizontal ground‘such that sin@ = E . If the foot of

' the ladder is 7.5 m from the wall, then what i the height

(3) 18m

of the point where the top of the ladder touches the wall?
(1) 8m - (2 15m »
4) 12m

or(AABC)

Let AABC~ APQR and or(APQR)-:Té- IfAB =12cm,
BC =6 ¢m and AC = 9 c¢m, then PR is equal to:

108

1) 360

- 10.

() 12cm (2) 16cm

(3) 8cm 4) 9cm

In the given pie-chart, hpw many persons are using train
to reach their workplace? :

Degree of persons using different Transports
" (Total 1080 persons).

160

90-%—; .

40

[OTrainf] Scooter{ll] CarE] Cyclelll Bus

(2) 380
(3) 400 (4 320
The square t root of Wthh of the followmg isa ratlonal
" number?
(1) - 1489.96 (2) 2460.14
(3) 5823.82 (4) 225049

Two pipes A and B can n fill an empty tank in 8 hours and
12 hours respectively. They are opened alternately for 1

~ hour each, starting with pipe A first. In how many hours
,w111 the empty tank be filled? .

, ko
@25

3) 9— @ 91.

Two numbers are m the ratio 4 : 7 If thelr HCF is 26.

“then the sum of these two numbers will be
O 286.
(3) 3 12

- (2) 338

. (4) 364

Ifa® + b3— 5824 and a+ b=38, then (a b)*- +abis equal
to; : .

(1) 208 () 180 _

(3) 236 (4 152

A-sum of Z18,000 is invested for 16 months at 8% pe
annum compounded half-yearly. What is the percentage
gain at the end of 16 months. to the nearest whol

" number?
(1) 10% - (2)'11%
(3) 12% . (4)_' 9%




I1.

12.

13.

14.

The price of sugar is decreased by 10%. By what percent
can a person increase the consumption so that there is no

change in the expenditure? >
100 100 :
it () G
(@D) 9 % 2 0 Yo
109
3) G % 4 10%
The sides of a triangle are 8 cm, 15 cm, and 17 cm
respectively. At each of its vertices, circles of radius 3.5
cm are drawn. What is the area of the triangle excluding
‘ ; - LT
the portion covered by the sectors of the circles | 7 = = )?
(1) 21:5cm? (2) 47 cm?
() 23.5 cm? (4) 40.75 cm?
In the given bar graph, the number of students enrolled
in institute B in the year 2016 is what percentage of 17
students enrolled in institute A in 20162 :
Number of students enroll in different years
300 -
o S
t
T s
B 5o
S
& s
2§ 200
88
> 18.
B Institure A’ Wl institute 8
250
(1) ~—% 2) 85%
3
19,
325
(3) 120% “) 2 %

In the given pie chart, what is the ratio of the number of
people who use train or car to reach their office to the
number of people who use other means of transport to
reach their office. :

Degree 0f persons using different Transports
(Total 1080 persons).
20.
60
s
90—}
[ Trainf] Scooter[[]] Carf Cyclelll Bus
109

() 335 2) 4:5
3) 5:6 “ 5:3
A shopkeeper sold two articles for 9831 each. On one

he gained 13% and on the other, he lost 13%. What is
the overall percentage gain or loss? ‘

(1) 1.69% gain
(2) 6.5% gain
3) 6.5% loss
(4) 1.69% loss

The radius of a cylinder is increased by 120% and its
height is decreased by 40%. What is the percentage
increase in its volume?:

(1) 180.6% (2) 190.4%
(3) 175.4% 4) 212.8%

The income of A is 24% more than the income of B. By
what percent is the income of B less than the income of.
A?

600 150
W sp @ gt

600 g 300

— 0, —0
@) 59 (4,) 3172

The successive discount of 25%, 20% and 10% is
equivelant to a single discount of:

(1) 54% Q) 46%
(3) 48% @4) 44%

From the top of a 12 m high building, the angle of
elevation of the top of a tower is 60° and the angle of

depression of the foot of the tower is 0, such that

3 . ; -
antan@ = T What is the height of the tower (ﬁ = 1.73)?

(1) 37.95m (2) 39.68m
(3) 41.41m (4) 3622 m
sé;[zz_{az(siwim

6. 3 (457

1y 7 ar £

® > @ 2
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h

2.

22.

23.

24.

(1) 395

In the given bar graph, the percentage decrease in the
number of students in Institute A in 2016 is what percent
of students in 2015.

Number of students enroll in different years

800
0
00
500
400
380
200
1%

ber of students

Num

Institure ‘A [l inmiture '8

(1 39.5% ) 37.5%

(3) 40.5% @ 35.5%

The average of 18 numbers is 52. The average of the
first 8 numbers is 62 and the average of the next 7
numbers is 45. If the 16th number is 6 less than the 17th
number and the 17th number is one more than the 18th
number. then what is the average of the 16th and 18th
numbers?

(2) 40.5

3) 40 @) 39

In the given bar graph, what is the ratio of the total
number of students from 2016 to 2018 in institute A to
the total number of students from 2016 to 2018 in institute
B.

Number of students enroll in different years

mber of students

Insticure ‘A W institure 6

(.. 2123 (2) 19:20
(3) 20:19 (4) 23:21 ’31.
One side of a rhombus is 13 cm and one of its diagonals
is 24 cm. What is the area of the rhombus?
(1) 120 cm? ) 130 cm?
3) 156 cm? (4) 312 cm?
110

25.

26.

27.

28.

29.

30.

(1) 460

Lot 823 0
The value of 35‘ 2—2‘— > —5—+E—E =

6 ' 11
oz @5
‘ 9
® o @ =

What is the sum of'the digits of the least number, which
when divided by 12, 16 and 54. leaves the same remainder
7 in each case, and is also completely divisible by 13?

(1) 36 @ 9

3) 16 4) 27

A shopkeeper marks his good at a price such that afier
giving a discount of 25%, the gains 20%. If the marked

price of the article is ¥736, what is the cost price of the
article?

(2) %450
(3) %440 (4) %455

6 cubes. each of edge 4 cm. are joined end to end. What
is the total surface area of the resulting cuboid?

(1) 208 cm? 2) 496 cm?
(3) 576 cm? (4) 416 cm?

In AABC, £ C=30° Ifthe bisectors of the angle B and
angle C meet at a point O in the interior of the triangle,
then £BOC is equal to:

(1) 90°
3) 75°

) 120°
(4) 105°

sin 30°= cos 60°+ cot? 45°
c0s 30°—tan 45°+sin 90°

The value of is equal to :

V3 ' 243

(D i 2 1
i 3
3) 5 (€] =

The efficiency of A, B and C are in the ratio 5 : 6 : 9.
Working together, they can complete a work in 18 days.
In how many days can B alone complete 25% of that
work?

(1) 18
3) 16

2 10
@ 15




32.

33.

34.

35.

[n the given histogram, what is the percentage of students
whose height is in the class interval 165 — 170?

Number of students

LT e e R PR TR
i =
& ¢ i 3 :
5

Height class in cm.

(1) 18% Q) 25%

@) 20% 4 15%

In the given pie-chart, the number of persons using a car
is what percentage of persons using a scooter?

Degree of persons using different Transports
(Total 1080 persons).

[ Trainf Scooter{[]] CarE Cyclelll Bus

(1) 75% (2) 50%

(3) 80% 4 60%

ABCD is a cyclic quadrilateral such that AB is the
diameter of the circle circumscribing it and # ADC =
145°. What is the measure of ~ BAC?

(1) 50° (2) 35°

3) 55° 4 40°

36 persons working 8 hours a day can do 3 units of work

in 12 days. How many persons are required to do 5 units
of that work in 16 days, if they work for 6 hours a day?

(1) 60 () 55
(3) 45 4) 50

. If a train runs with the speed of 48 km/h, it reaches its

destination late by 12 minutes. However, if its speed in

111

37.

38.

39.

40.

41.

42.

43.

64 km/h it is late by 3 minutes only. The right time for
the train to cover its journey (in minutes) is:

(1) 24 (2 22

3) 18 @ 20

If tan3x = cot(30° + 2x), then what is the value of x?
(1) 18° 2) 12°

3) 10° 4 15°

In aclass of 45 students. 40% are girls and the remaining
are boys. The average marks of the girls is 64 and that

of the boys is 60. What is the average marks of the whole
class?

(1) 624 (2) 61.6
(3) 62.9 (4) 61.8
In the given histogram, which class is the median class?

Number of students

@ omie oew BOROE &
L

o &5

Height class incm.

(1) 150-155 (2) 165-175
(3) 155-160 (4) 160- 165
A boat can go 30 km downstream and 24 km upstream
in 2 hours 27 minutes. Also, it can go 10 km downstream

and 4 km upstream in 37 minutes. What is the speed of
the boat upstream (in )?

(1) 18 2 20

) 22 4 24

If(2x + 3P+ (x— 8) + (x+ 13 =(2x+3) (3x~24) (x
+ 13), then what is the value of x?

(1 =25 2) 2

3 -1 4 -1.5

If the seven digit number 74x29y6 is divisible by 72,
then what will be the value of (2x + 3y)?

(1) 16 2) 20

3) 19 4 21

1 1
Ifx - ~ =6, then 7 ——3 is equal to:
X

(1) 176
3) 216

) 234
4) 198




44.

45.

46.

47.

43.

49.

50.

In an examination, 48% of candidates passed in science
and 56% failed in mathematics. If 32% failed in both
subjects, then what percent passed in both subjects?
(1) 28% 2) 22%

(3) 24% 4) 32%

PA and PB are two tangents from a point P outside a
circle with centre O. If A and B are points on the circle

such that ~ APB = 80°. then £ OAB is equal to :

(1) 50° (2) 40°

3) .55° 4) 45°
5.75%5.75%5.75+3.25x325x3.25 |
$75%575132.5x32.5 57 5x325 |S equal to:
(1) 0.0009 2) 0.009

G3) 09 4) 0.09

In the given histogram, the number of students whose
height is in the class interval 175 - 180 is what percent
less than the number of students whose helght is in the
class interval 160-165?

‘2' 15
§
17
B I
3
£
2
1865 18547
Height class in em.
200 :
. =% (2) 40%
50
@) FT% 4). 60%

What is the ratio of the mean proportional between 8.1
and 3.6 and the third proportional of 2 and 3?

(1) 615 (2) 4:5

3)-5:6 4 5:4

A sphere of radius 5 cm is melted and recast into spheres
of radius 2 cm each. How many such spheres can be
made?

() 16 2) 15

(3) 17 4) 18

A, B and C started a business by investing ¥55,000,
¥65,000 and T75.000 respectively. A is a working
partner and gets 20% of the profit as working allowance
and remaining is distributed in the proportion of their
investment. If the money received by C is ¥27,000 what
is the total profit?

(1) 70,200
(3) %76,850

() 87,750
(4) %85,500

@yt @ L3 @ 4 @l s
6. W1 7o b8 @9 @l 1o@
i lne@w | 3.6 |14 @] 150
6. @t m l.s@ 1 @1 2000
@y o @ LB 25
2. 3|27 | 28.@ [ 29. @ | 30 @
3] 32 eyl 333 3 e 35w
36 (D) | 37. @y |- 38:@:} 39. '@ | 40.@
M.l 2 | 8. | 4 @] 450
46. @ | 47. @.| 8. | 49. @ | 50. Q)

3. SSC CPO SI EXAM PAPER-2018
Exam Time :10:00 AM - 12:00 PM
Exam Date :13/03/2019

1.

In the given pie-chart. the amount spend on education is
what percent of the savmgs‘7

Degree of amount incurred in different
Expenditure (Total ¥ 43,000)

1 Rent

[l Food

B Education

[ saving

B Miscellaneous

(1) 80% (2) 60%

3) 70% @ 75%

Two numbers are in the ratio 5 : 11. If their HCF is 24,
then the sum of two these numbers is:

(1) 384 (2) 408

3) 120 (4) 264

One side of a rhombus is 26 cm and one of the dragona]
is 48 cm. What is the area of the rhombus?

(1) 624 cm? 2) 580 cm?

(3) 520 cm? (4) 480 cm?

If the seven digit number 56x‘34y4 is divisible by 72,
then what is the least value of (x + y)?

(1) 8 2) 12

(3):38 4 14

b
|
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10.

11

¢

ABCD is a cyclic quadrilateral such that is the diameter
of the circle circumscribihg itand £ ADC = 155°. then
what is the measure of ~BAC?

(1 35° {2) 55°

3) 65° 4) 45°

1In a class of 70 students, 40% are girls and remaining

are boys. The average marks of the boys are 63 and that
of the girls are 70. What is the average marks of the
whole class? :

(1) 654 (2) 65.8
(3) 65.2 (4) 64.8
The sides of a triangle are 16 cm, 30 cm and 34 cm

respectively. At each vertices, circles of radius 7 cm are

drawn. What is the area of the triangle. excluding the

j 22
poioo Pt iy oy c 0 v (” L
(1) 172cm? (2) 163 cm?

(3) 196 cm? (4) 86 cm?

If 2> - b’ = 1603 and (a — b) = 7, then (a + b)2—ab is
equal to: :
(1) 458 (2) 338
3) 229 (4) 648

If a train runs with the speed of 36 km/h, it reaches its
destination 15 minutes late. However, if its speed is 45
km/h. it is late by only 4 minutes. The correct time to
cover its journey in minutes is:

1) 22 (2) 27

(3 25 (4) 40

From a point P outside the circle with centre O. two
tangents PA and PB are drawn to meet the circle at A
and B respectively. If Z APB=70°.then £ OAB is equal
to: .

(1) 35° (2) 65°

3) 45° 4) 55°

The price sugar has increased by 18%, By what
percentage can a person decrease the consumption so
that, there is no change in the expenditure? (correct to
one decimal place)

(1) 15.9% (2) 15.7%

(3) 15:5% 4) 15.3%

18 persons working 8 hours a day can complete 3 units
of works in 10 days. How many persons are required to
complete 5 units of that work in 16 days workin g 6 hours
a day?

113

3.

14.

15:

() 18

e
16.

(1) 25 @) 15
3) 20 @) 9
In the given bar graph, what is the average number of
females in all five organisations?

Number of Male and Female in different Organization
350 - 3zs BMale BFemale
w 300 -
g 250 -
$ 200 -
g 150 -
r-
E 100
2
0 - 3
A 8 C D E
Organ‘mtlomb
@) 245 (2) 235+
(3) 230 @) 225

A boat can go 20 km downstream and 30 km upstream.
in 2 hours 20 minutes. Also, it can go 10 km downstream
and 8 km upstream in 49 minutes. What is the speed of
boat downstream in km/h?

2) 20

3) 16 4 24
The value of sin?30° , cosz45° + 2 tan30° — sec?60° is
equalto:

13 77
m -3 @ -7
25 o 1
12 @ =5

In the given bar graph, what is the ratio of the total males
and females working in all organisations?

Number of Male and Female in different Organization
350 ~ 325 EMale BWFemale
300
w 300 -
§ 250
% 200 -
E 150 -
E 100
Zz
50 .
0 E
A B € D E
COrganizations
(1) 49:46 (2) 35:46
(3) 46:40 (4) 46:35
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18.

1.

20.

21.

The average of 22 numbers is 52. The average of the
first 8 numbers is 48 and the average of next 11 numbers
is 54. The 20th number is 7 less than the 21th number
and 21st number is 4 more than 22nd number. What is
the average of the 20th and 22nd numbers?

(1) 52 () 52.5
(3) 53 4) 53.5

From the top of 75 m high tower, the angle of depression |
of two points P and Q on opposite side of the base of the

: . 3
tower on level ground is 6 and ¢, such that tanf = 7

. 5 '
and tang = 3 What is the distance between the points P

and Q?
(1) 190m ~(2) 200 m
(3) 180m (4) 220m

_The radius of a cylinder is increased by 150% and its

height is increased by 50%. What is the percentage
increase in its volume? : :

(1) 375% (2) 625.5%

3) 775.75% 4) 837.5%

A, B and C started a business by investing ¥27,500, ¥
32,500 and ¥37,500 respectively. A is a working partner
and gets 20% of profit as working allowance and the
remaining is distributed in proportion of their
investments. If the money received by C is ¥ 13,500, What
is total profit?

(1) 35,100 (2) 38,425

3) T42.750 (4) T43,875

In the given histogram, what percentage of students got
marks less than 457 (Correct to one decimal place)

35 ; 32
30 i
'2 25
| 2
3 20
"g = 14
é 0w 8
5
0
15-30 © 30-45 45-60 60-75 75-90
Marks of Students
(1) 39.4% () 39.1%"
(3) 39.6% 4) 38.8%

22

23.

24.

25.

26.

27

The Square root of which of the following is a rational

. number?
(1) 2361.96 2) 2758.28»
(3) 725684 (4) 62504.9

What is the sum of the digits of the least number, which
when divided by 15. 15 and 27 leaves the same remainder
9 in each case and is also completely divisible by 11?

(1) 20 2y 17
(3) 18 @ 19

6.75%x6.75x6.75+4.25x4.25x4.25

675%67.5+42.5%42.5—67.5x42.5 s cqual to:
(M 25 (2) 0.25
(3) 0.0025 @) 0.025

A shopkeeper marks an amide at a price such that afier
giving a discount of 25%. the gains x%. If the cost price
and the marked price of the article are 460 and ¥736
respeﬁ:tively. what is the value of x?

(1) 20% () 18%
(3) 24% @) 16%

or(A4BC) 1 :
Let AABC ~ ARPQ and m=2_ If PQ = 4cm,
QR =6 cm and PR = 7 cm, then AC is equal to.
(1) 2cm 2) 4cm
(3) 3cm 4) 3.5cm

In the given pie-chart, total expenditure together on rent
and education is what percent less than total expenditure
of food and miscellaneous items?

Degree of amount incurred in different
Expenditure (Total T 43,000)

Rent

M Food

B Education

[ Saving

& Miscellaneous

(1) 26% () 30%
1200 40
@) % @ 5%
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; 35
shoggtoya (3 4 ,_
3 [ 2 {6 (5 10 ISJH is equal to:
n = ®
10 5 36.
¢ = @ 3
& The efficiencies of A, B and C are in the ratio 2 : S:7
working together, they can complete a work in 10 days. e
In how many days will. A alone be able to complete 30%
of that work?
(1) 20 2) 28
(3) 30 @ 21
. .In an examination, 53% of the candidates failed in science
and 48% failed in mathematics. If 40%‘ failed in both 38,
subjects, what percentage passed in both subjects?
(1) 51% 2) 39%
3) 49% @ 43%
Two pipes A and B can fill an empty tank in 10 hours 39
and 16 hours respectively. They are opened alternately :
for 1 hour each, starting with pipe A first. In how many
hours, the empty tank will be filled?
(1) 12l (2) 12l
3 8
40.
3) 12l @ 12l
. The successive discounts of 20%, 10% and 8% is
equivalent to a single discount of:
(1) 66.24% ' (2) 32.84%
3) 38% 4) 33.76%
. If sin(4 +B)='\£_ and tan(4 - B)— 75> then QA + 3B)
is equal to :
(b, 120° (2) 135°
(3) :130° 4 125°
.. Asum of 12,000 is invested for 15 months at 10% per
annum compounded half yearly. What is the percentage
gain, at the end of 15 months. correct to one decimal A1
place? :
(1) 13.0% @) 13.1%
3) 12.8% @) 12.9%"
115

. What is the ratio of mean proportional between 1.8 and
- 3.2 and the third proportional of 5 and 3?

(H:3:5 2 4:3
3) 3:4 @ 5:3
In AABC, Z A = 40°. If the bisectors of the /B and

-~ £C, meet at a point O. then ZBOC is equal to:

(1) 130° (2 9%0°
3) 70° 4 110°
Pipes A and B can fill a tank in 12 hours and 16 hours

respectively and pipe C can empty the full tank in 24
hours. All three pipes are opened together, but after 4

~ hours pipe A is closed. In how many hours from the

beginning the tank be filled?

(1) 24 2) 28

3) 30 @) 32

8 cubes, each of edge 5 cm, are joined end to end. What
is the total surface area of the resulting cuboid?

(1) 850 cm? (2) 825cm?

3) 1200 cm? “) 800 cm?

A shopkeeper sold two articles for 9639 each; On one,
he gained 19% and on the other, he lost 19%. What is
the overall percentage gain or loss?

(1) 3.81% loss (2) 3.61% gain -
(3) 3.81% gain (4) 3.61% loss
Inthe given histogram, in which class interval, the median

marks lies?

35

32
30
30 8
£ 35 1
2 20
> 15 3 -
E 10 8
2z
. I ‘ I
0 : : :
0-15  15-30 30-45 4560 60-75 75-90.
Marks of Students
(1) 30-45 (2) 45-60
(3) 60-75 (4) 15-30

If(e+4)Y +(2x+ 1) + 2x+5)°=2 (3x + 12) (2x + 1) (2x
+5), then what is the value of x?

(1) 3 @ -2

(3) 2 “ 3

——— P

V
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42.

43.

44,

46.

5 2 |15(_ 4 1
The value of 3g+{3‘3‘_{‘z(5’§+145]ﬂ is equal to:

37 -35
() /=
: 19
3) 6 @ =

In the given bar graph, in which organisation, the

percentage difference between the males and females is
maximum, by considering total persons in that
organisation as base?

Number of Male and Female in different Organization
350 - 325 B Male Mfemale
| 200 .
w 300
8
@ 250
& 200
‘5
5 150
L0
E 100
Zz
50
0
A B 3 D E
Qrganizations
(1) D @) E
(3) B 4 C

The angle of elevation of top of a tower from a point P,

12
on the ground is @ such thattan tané = 5 If distance

of the point P, from the base of the tower is 75 m, what is
the height of the tower?

(1) 160m (2) 200 m

(3) 190m 4) 180 m

If the income of A is 40% more than the income of B,
then by what percentage is B’s income less than that
income of A?

230

1) ~?[-E~% Q) 56%
: 200

() 25% @ =%

1 1
If x+; =§, then x2+ — is equal to :
2

(1) 62
3) 64

@) 68
(4) 66

47. A sum of ¥15,600 is invested partly at 7% per annum

48.

49.

L

(@)}

@

and the remaining at 9% per annum simple interest. If
the total interest at the end of 3 years is ¥3,738. how
much money was invested at 7% per annum?

(1) %7,800
(2) 7,900
3) 27,600
4) 7,700 :
In the given histogram, what is the mean marks of the
students. correct to one decimal place?
35 n
30 .
30 - : 8
w
£ 25 4
& 20 e
.‘g 16
£ 15 - " .
[
s ;
£ 8
z ' ' :
5 l ‘ I |
0
0-15 1530 3045  45-60 6075 75-90
Marks of Students
(1) 512 (2) 535
(3) 327 (4) 50.6
In the given pie-chart, what is the total expenditure on
rent?
Degree of amount incurred in different
Expenditure (Total T 43,000}
Rent
il Food
B Education
] Saving
B Miscellaneous
(1) T8,400 (2) 8,600
(3) 8,800 (4) 8,900
A sphere of radius 7 cm is melted and recast into small
spheres of radius 2 cm each. How many such spheres
can be made?
(1) 40 @ %2
3 41 (4) 43




@12 )y ] 3. @ 4. 3 5. 3
¢ Q1L 2 4 (3) 9 (4 10. (1) 5.
11. @) | 12. (D 13. 3) 14. @) 15. 2)
16. 1) | 17. 4) 18. (4) 19. @ 20. 4)
20 @1 2. a) 23. (3) 24, 4 | 25. (D
26. 3) | 27. ¥ 28. (1) 29. @ 30. 2) 5
31. 3 | 32. & 33. 4) 34. (1) 35. (2)
36. 4) | 37. ¥ 38.(1) | 39. @ 40. (2)
41. 2) | 42. 3 43. (1) 44. @) 45. 4)
46. (1) | 47. () 48. (4) 49. (1) 50. 2) 7
4. SSC CPO SI EXAM PAPER-2018
Exam Time : 3:00 PM -5 :00 PM
Exam Date :13/03/2019
If a train rims with the speed of 52 km/h, it reaches its
destination late by 15 minutes. However. if its speed is
65 km/h, it is late by 5 minutes only. The right time for
the train to cover its journey is:
(I) 40 minutes ~ (2) 35 minutes 8.
(3) 45 minutes (4) 30 minutes
2. A sphere of radius 9 cm is melted and recast into small
spheres of radius 2 cm each. How many such sphere can
be made?
1 92 (2) 90 9,
3 93 @) 91
In the given bar graph, what is the ratio of the total boys
and girls in all schools?
Number of Boys and Girls in Different School 10:
338 - BBoys MGirls 756 :
o 738 '
¥ E -
2 iog i
3
A 8 £ B £
Schools |
(1) 65:63 ) 66:59 12.
() 65:58 (4) 59:66
4. Inaclass of 45 students, 40% are boys and rest are girls.
The average weight of the girls is 55 kg and that of boys
is 65 kg. What is the average weight (in kg) of the whole
class?
117

(1) 60kg (2) 61kg

(3) 58kg 4) 59 kg
Ex-32+@2x-5p3+ (x 4 =(3x=9) (2x=5)(x=4),
then what is the value of x?

(1 2 ()5

(3) 4 @ 3

The square root which of the following is a rational
number?

(1) 5535.36 (2) 3152.88
() 72905.2 (4) 67508.5

Two pipes A and B can fill a tank in 16 hours and 20
hours respectively. They are opened alternatively for 1
hour each. starting with pipe A first. In how may hours
with the empty tank be filled?

1

) 17;

3
W 173

1

@ 17—

3
) 7

If the seven digit number 3x6349y is divisible by. 88,
then what w1ll be the value of (2x + 3y)?

(1) 28 () 30
(3). .32, 4) 35

One side of arhombus is 6.5 cm and one of it’s dlagonal
is 12 cm. What is the area of the rhombus?

(1) 78 cm? 2) 15cm?

(3) 30cm? (4) 60 cm?

If sec2x = cosec (3x — 45°). then x is equal to:
€ - 27° (2) 40°

3) 45° 4 35°

The efficiencies of A. B and C are in the ratio 5: 6 : 8.
Working together. they can complete a piece of work in
120 hour’s. In how many hours will, B alone be able to
complete 40% of that work?

(i) 152 (2) 182.4

(3) 1672 4 114 :

The price of sugar has increased by 14%. By what
percentage can a person decrease the consumption so
that there is an increase in the expenditure by 8% only?
(correct to one decimal place)

(1) 5.9% (2).5.5%

3) 53% 4) 5.7%




13.

14.

15.

16.

17.

18.

(1) 80m

In the given bar graph, in which college, the percentage
of boys is the highest? :

Number of Boys and Girls in Different School

Boys MGirls 750

LPRACH S 0000
AN CTHAKATINA TN

QAR I CIIHCICOCILHDICHKD
Ve

Number of Students

NI LA L b
LALNCHN RN

Schools
(2 D
4) E

.
3) A

sin? 60°+cos? 30°~sec35°.5in55° .
is equal

The value of sec 60°+cos ec30°

to:
M 3 @
I

|
G5 @ 3

: s a0
The value of 65{45“{3“(§+E_T’5‘)H is:
{h 2.1 (2) 2.8
3} 25 “4 18
A shopkeeper sold two articles for ¥9,879 each. On one,
he gained 11% and on the other. he lost 11%.What is the
overall percentage gain or loss? :
(1) 1.21% gain (2) 1.25% gain
(3) 1.21% loss 4) 1.25% loss

63.5%63.5%63.5+36.5%36.5x36.5 | :
SIS le i e el

(i) 100 (2) 1,000

(3) 1,00,000 (4) 10,000

From'the top of a 120 m high tower, the angle of
depression of the top of a pole is 45° and t..e angle of

depression of the foot of the pole is 6, such that

3
tan 6 = -7— , What is the height of the pole?

(2) 40m

(3) 60m @) 75m

19.

20.

21

22

23.

24.

What is the ratio of mean proportional between 3.6 and
12.1 and third proportional between 2 and 11?
(1)..11:36 2) 36:5

{3)-6:5 4 6:55 :
Pipes A and B can fill a tank in 16 hours and 24 hours
respectively whereas pipe C can empty the full tank in
40 hours. All three pipes are opened together. but pipe A
is_closed after 8 hours. After how many hours. the
remaining part of tank will be filled?

(1) 22 2) 30

(3) 28 4 26

In the given pie-chart, if the female employees in
department D is 75%. then how many male employees
are in that department?

‘Percentage of Employees in different
Dept. (Total 450 Employees)
0%
22% g
E3 C
) o ¥ 2 mo
e A B e
6% o “ELE
il
(19 (2) 4
3) 5 4 6

A boat can go 10 km downstream and 8 km upstream‘ in
49 minutes. Also it can go 12 km downstream and 4 km
upstream in 42 minutes. What is the speed of stream in
km/h?

(1) b5 (2) 2.5

G) 2 4 1

A cuboid of edges 32 cm, 4 cm and 4 cm is cut to form
cubes of edge 4 cm each. What is the sum of total surface
areas of all cubes formed?
(1) 544 cm?

(3) 576 cm?

(2) 640 cm?
(4) 768 cm?

17 bl 15 foab 0
A RIS (eI s (SN O SRS .
30+E35 {6 "5 '92]}] is equal to:

O

e

11
3) @ 5
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26.

2

28.

29.

30.

Two numbers are in the ratio 6 : 11. If their HCF is 28.
then the sum of these two numbers is:

(1) 392 (2) 448
(3) 420 4) 476 .
“The sides of a triangle are 24 cm, 45 cm and 51 cm. At

each of it’s vertices, circles of radius 10.5 cm are drawn.
What is the area of the triangle, excluding the portion

covered by sectors of the circles? (7’ = 7)

(1) 327.75 cm’® (2) 366.73 em®
(3) 464.75 cm® (4) 244.75 cm®
What is the sum of digits of the least number, which

when divided by 15, 18 and 42 leaves the same remainder’

8 in each case and is also divisible by 13?

(1) 24 2) 26

3) 25 @) 22

If the income of A is 24% less than income of B, then
what percentage is B’s income is more than that of A?

600
M _79“% &) oo %

(3) %9 % “ 31 %

In AABC, £A=70°. ABAC and are produced to points
D and E respectively. If the bisectors of « CBD and
£ BCE meet at the point, then £ BOC is equal to:

(1) 105° 2) 70°

(3): 95° @) 55°

In the given bar graph, what is the average number of
girls from all schools?

Number of Boys and Giris in Different School

800

Boys MGirls 750

S LT el o QOO0
CHLA N
CRC DT

Number of Students

A NONI QD

Schools

(1) 575
(3) 590

) 595
(4) 580

31.

32,

33.

34,

39,

36.

: or(A4BC) 1
Let AABC ~ ARPQ and /_——or(APQR) —‘9 IfAB=3cm.
BC 4 cm and AC = 5 cm, then PQ is equal to.
(1) 9cm (2) 15cm
3) 12cm 4) 18cm
If @ — b’ = 3552 and (a — b) = 6, then (a — b)2 — ab is
equal to:
(1) 568 (2) 618
(3) 636 4) 592
16 persons working 6 hours a day can complete a work
in 10 days. In how many days 24 persons working 8
hours a day will complete 80% of that work?
1 4 @ 3
3 6 “ 8
A, B and C started a business by investing ¥1,37,500
and 162,500 and ¥ 1,87,500 respectively. A isa working
partner and gets 20% of the profit as working allowance
and remaining is distributed in the proportion of their
investment. If the total profit is 2,19,375,what is the
share of C?
(1) 64,500 (2) 62,700
3) 67,500 (4) 88,600
In the given histogram, what percentage of cars were
running with the speed less than 60 km/h?

100 90
90 8
80 70 i
v 70 ;
8 i 60v 2
5 50 :
5 50 ; 45
£ 40 : )
3
1=Z 30 :
20
10
0 {
40-50 50-60 60-70 70-80 - 80-90 90-100
SpeedinKm/h
(1) 28% 2) 30%
(3) 25% (4) 35%

A sum of 10,000 is invested for 17 months at 8% per
annum compounded half yearly. What is the percentage
gain at the end of 17 month. nearest to one decimal place?

(1) 12.0% ) 12.4%
3) 11.8% 4) 12.2%

Fi9r i o
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38.

39.

40.

In the given histogram. what is the mean speéd of cars 41
~ (inkm/h) to nearest Whole number?
100 . &
90
80 i
‘v&' 70 -
O 60
'g 50 L 45
4 4 42,
Z 30
20
10
0
40-50 5060 60-70 70-80 80-90 90-100
Speed in Km/h
1y 71 @) 70 i
@3) 72 “ 69 :
The successive discounts of 30%: 25% and 15% is
equivalent to a single discount of:
(1) 54.625%
(2) 55375%
3) 60.275% 44,
4) 60.725%
A shopkeeper marks the price of an article such that after
giving a discount of 30%, he gains 20%. If the marked
price of the article is T¥480. what is the cost price of the
icle?
article? 45,
(1) T250 (2) %260
(3) %300 (4) %280
In the given pie-chart, what is the central angle of the
sector representing the number of employees in the -
department D? ,
46.
Percentage of Employees in different
Dept. (Total 450 Employees)
; 0% A
(¢)
e B
Bj C
o o
) ]
20% . HE
- <169 Higg
0
i
(1) 29.6¢° (2) 28.8°
{3) 292° 4 29.8°
120

. The average of 20 numbers is 65. The average' of the

first 9 numbers is 68 and the average of next 8 numbers
is 62. If the 18th number is 3 more than 19th number
and 9 less than 20th number. then what is the average of
19th and 20th number?

(1) 64.5 (2) 66

(3) 65 4) 65.5

The length of shadow of a vertical pole on the ground is
24 m. If the angle of elevation of the sun at that time is

5 :
0, such thatsin@=— then what is the height of the

pole?
(1) 18m ) 2m
3) 8m 4) 10m

A sum of 210,200 is invested partly at 8% per annum
and remaining at 6% per annum for 3 years at simple
interest. If the total interest is ¥2,124, how much money :
was invested at 6% per annum?

(1) 4,800 (2) 4,900

(3) 5,200 (4) 35,400

The radius of a cylinder is increased by 60% and radius
of base is decreased by 20%. What is percentage increase
in it’s volume?

(1) 105.6% (2) 105.2%

3) 104.8% (4) 105.8%

PA and PB are two tangents from a point P outside the
circle with centre O. If A and B are points on the circle
such that £ APB = 110°, then £ OAB is equal to:

(1) 45° (2) 55°

3) 35 @ 70°

In the given pie-chart. what is the number of employees

working in department A?

Percentage of Employees in different
Dept. (Total 450 Employees)

0% ¥
2% g’;
Ec
= . o
b EE
]| $16%:; o o & F
glsesss
L )
(1) 80 Q) 85
3) 90

@) 960
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47.

k!

3) 38%
. - ABCD is a cyclic quadrilateral such that AB is a diameter

In the given histogram, in which class interval, the median
lies? ‘
100 S ;
90 85
80 - 70 '
5 70 o
60
‘g 50 = 45
F '
=
= 30 :
20
10 :
0
40-50 50-60 60-70 70-80 = 80-90 . 90-100
Speedin Km/h
(1) 60-70 (2) 80-90
(3) 70-80 (4) 50-60

1 1
A x+—=17 then ¥ + — 1s equal to;
X X :

(1) 343
(3) 385

) 322
(4) 364

. Inan examination, 47% passed in science and 51% failed

in mathematics. If 42% failed in both subjects, what
percentage passed in both subjects?

(1) 36% Q) 40%
@) 42%

of the circle circumscribing it and £ ADC = 160°. What
is the measure of the ~ BAC?

(65 (2) 70°

(3) 150 4) 60°

A

22 @ 3. Q) 4. DO | 5 @

LM 8 @]9 @] 0@

2@ | B @] 150

@dl17.@ | 8.2 | 190 @ | 201

.Mi2 B2 @l 259

.21 @ s 207 @ | 30.3)

@32 @ {330 ]3 @ 350
@ 3@ e L @ e

|2 @ | Bw |4 @] 50

@4 | 8.2 | 9. 3] 50 @

5. SSC CPO SI EXAM PAPER-2018"
Exam Time: 10:00 AM - 12:00 PM
Exam Date: 14/03/2019

(1) 80°

A, borrowed %28,500 at 8% p.a. interest compounded
annually. If ¥5,780 was paid at the end of first year,
then the outstanding amount at the end of second year is:

(1) %30,780.00 (2) %33,242.40
(3) 27,462.40 (4) %27,000.00
Which of the following statement is true?

(1) TWO prime numbers are co-prime numbers if their
LCM s 1.

(2) LCM of two natural numbers is divisible by their
HCF.

(3) HCF +LCM of two numbers = Product of the two
numbers =

(4) HCF of two numbers is the smallest common divi-
sor of both numbers.

In the given figure, X'YZ is an equilateral triangle ~ XAY

=40°, £XBZ=30°. then £ AXB is equal to:

2) Ho

(3) 90° “ 6

The single discount equivalent to two successive

discounts of 12%rand 8% is: (rounded off)

(1) 19% (2) 20%

(3) 18% 4) 17%

A tank can be filled by pipe A in 5 hours and emptied by

pipe B in 8 hours respectively. How much time will it
take for the tank to be half full?

1 1
3— 12~
(1) 33h @ 12zh
2 2
8— 6—
(3) 83h 4,51
The average of all prime nqmbers between 10 and 25 is:
(1) 16.6 (2) 147
(3) 18.67 4) 153

One-fourth of a tank can be filled in 3 hours by pipe A
and one-third of the same tank can be filled in 2 hours by
pipe B. How long will it take for the tank to be filled if
both the pipes are kept open?

(1) 5h () 4h

3) 2%11 4) 2h




10.

11.

1

13.

The number 23474 is exactly divisible by:
(1) 2and 11 only (2) 2 and 3 only
(3) 2and4only (4) 2only
The given bar chart shows the details of cycle sales by a
company between January and May for years 2017 and
2018.

0 00 4do 600 800 1000

Sales2017 M Sales2018

In the given bar-chart, which month sales show the
maximum decrease in 2018 as compared to 2017?
(1) January (2) May
(3) April (4) February
T h et b e n q t h 8- '
is.
(1) 8m 2) 4m
() gf2m (4) af2m
A, B and C are partners. They share prpﬁts in the ratio
of 5:3:6. If Aearns ¥1,92,380 as his share of profit,
then the share of C is:
(1) 82,449 (2) T1,15,428
(3) %1,60,317 4 %2,30,856
A trader marks the products 25% above the cost price
and allows a discount of 15%. If the cost price is 2,080,
then the selling price is:
() %2,392 (2) 2,600
3y 1,809 4 %2210
The average age of a cricket team of eleven players is 27
years. If two more players are included in the team the
average becomes 26 years, then the average age (in years)
of the two included players is: :
(1) 26 (2) 27
() 245 (4) 205

14.

15.

16.

17.

The strirlg of a kite is 30 m long and it makes an angle
60° with the horizontal. The height of the kite above the
ground is: :

() 7.5m

(3) 10/3m

A goes to a mall from his house on a cycle at 8 km/h and
comes back to his house on a cycle at 6 km/h. If he takes
1 hour 10 minutes in all, what is the distance between
his house and the mall?

(1) Skm (2) 6km

(3) 4km (4) 8km

The ages of A and B are in the ratio 5 : 7. Five years ago,
their ages were iii the ratio 5 : 8. The respective present
ages 20, 28(in years) are:

(1) 20,28

(2) 15,21

(2) 154/3m
4) 15m

(3) 10,14

4 25,40
The line graph shows electricity consumption (in units)
for three households A, B and C for months

]febrularya to Ngay. i .

e :
February narch Apnl May

If the per unit rate chart is:

Units ' Rate oper unit (%)
First 50 2.4

- Next 50 3.5
Above 100 5.5

In the given line graph, the electricity charges collected
from all (A, B and C) for the month of February is:

(1) %506.8
(2) %348.00
(3) %474.20
@) 7396.80




18. The given pie-chart depicts the percentage of students 23. The line graph shows electricity consumption (in units)

19.

20.

21;

22,

coming to school using different modes of transport. Total
number of students = 1300 :

TRANSPORT
0, 3 9 O
2l W WALK
[ BUS
= B CcYCLE
22%# 39% [ CAR

In the given pie-chart, if 234 students used to walk, then
how many come by bus?

(1) 507 (2) 286

3) 273 4) 432

The line graph shows electricity consumption (in units)
for three households A, B and C for months February to
May. ;

300
: —
= ’ /// : o
ol
140 - Ssen
ol o e
:: e s
2
0 v
February sarch Aprit May
In the given line graph, the percentage increase in
electricity consumption of ‘B’ between March and May
is:
1) 85% 2) 95%
(3) 98% 4 7%
ABCD is a cyclic quadrilateral such that AB is a diameter
of the circle circumscribing it and angle BAC = 50°.
Then angle ADC is equal to:
1y - 130° (2) 150°
3) 60° (4) 140°
The value of 3x3[6-{12+15+(7-2)}] is equal to.
(Iy-'15 2 o :
(3) 18 4 -15 :
Triangle PQR is a right-angled at Q. If PQ=6 cm, PR=10
cm, then QR is equal to:
(1) 5cm (2) 7cm
3) 9cm 4) 8cm

24.

25:

26.

27

for three households A, B and C for months February to
May.
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(3) 27,664

In the given line gfaph, the difference between the total
electrical consumption between months of

February and April is:
1) 74 (2): 15
(3) ‘121 “4 97

The population of a town has increased by 5% at the end
of the first year and decreased by 4% at the end of second
year. If the population at the end of second year was

155,12,248, then the population at the beginning of first

year was:
(1) 56,23,012 (2) 54,68,500

(3) 55,72,950 (4) 53,00,420

The volume of a solid cylinder with height 6 cm is 231
cm’. The radius of the cylinder is:

() 35cm (2) 21 cm

3) 2.1cm (4 3.5cm

6 men or 5 women earn ¥ 14,820 in two days. How much
will 4 women and 6 men earn in one day?

(1) 13,338 (2) T13,832

(4) 26,676

The given bar chart shows the details of cycle sales bya
company between January and May for years 2017 and
2018.

APR |

0 200 400 600 800 1008
ElSales 2017 MM Sales2018

In the given bar-chart, what is the total increase or

* decrease in percentage sale in 20182

(1) 3% increase

(€))

(2) 1.5% increase

1.5% decrease (4) 3% decrease

?
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29,

30.

31.

32.

33.

34.

35,

. A manufacturer sells the product to a wholesaler at 6%

profit, the wholesaler sells the product to a retailer at
8% profit and the retailer sells the product to his customer
at 10% profit. The price paid by. the customer isZ3 1,48
(2) - The cost of the product to the manufacturer is:

(1) 26,524 (2) 28,306

(3) 25,000 (4) 26,980

A borrowed a loan from B at 8% simple interest for 2
years and repaid the loan vsith interest totaling
¥1,91,864. The amount of loan taken by A is:

(1) %1,68,920 . (2) %1,65,400

(3) 1,66,540 (4) %1,64,492

If 2 sin 3 6= 1, then the value of 0 is:
(H 30° @), 20° -
(3) 10° (4) 45°

The HCF and LCM of two numbers is 6 and 5040

respectively, If one of the numbers is 210, then the other

36.

37.

38.

39.

: 40.
number is:
(1) 30 (2) 144
@) 630 (4) 256
Three cubes With edges 6 cm each are joined end to end
to form a cuboid. The total surface area of the cuboid is:
(1) 432 cm? @) 504 cm? 41.
(3) 648 cm? 4) 720 cm?
A can do a work in 12 days while B can do same work in
18 days. How long (in days) will it take if they do the
work together?

1 2
O 1 @ 63
1 3
(), 5o . @ 57
A and B are at a distance of 1.7 km apart and they start
running towards each other at a speed of 8 m/s and 9 m/
s respectively. Afier how much time, will they meet each
otaer? :
(1) 1 minute 4 seconds
(2) 14 seconds
(3) 14 minutes 42.
(4) 1 minute 40 seconds :
An alloy contains 32% copper, 24% nickel and rest zin.
How much zinc is present in 12 kg of the alloy?
(1) 672 gm 2) 6.72 kg-
(3) 528 gm (4) 5.28kg
124

1) 20°

(1) 128cm

To what power —3 should be raised to get —2187?
Ay -5 ) -7
@) = OR

The volume of a conical tent is 924 m*and its base area
is 154 m”. The height of the tent is:

(1) 6m @ 12m
(3) 24m 4) 18m

A number which, when increased by 16% becomes 1914.
The number is: . ‘

(1) 2220 ‘ (2) 1650
(3) 1780 (4) 2010

The sum of all possible three digit numbers formed by
digits 3, 0 and 7, using each digit only once is:

(1) 2010, (2) 2220
(3) 1990 @) 2110
PA and PB are two tangents to a circle with centre O,

from a point P outside the circle. A and B are points on
the circle. If £ OAB =20°, £ APB then is equal to:

, @) 25°
(3) 40° @) 50°

The given pie-chart depicts the percentage of students
coming to school using different modes of transport. Total
number of students = 1300

TRANSPORT
: 0, a¢° 0
2 W WALK
i BUS
e B cycLE
22% A1 39% O car
i

In the given pie-chart, the difference between the number
of students travel by bus or walk to the number of students
travel by car or cycle. '

(1) 182 (2) 364

(3) 142 4) 125

The area of each square of a chessboard having 64 equal
squares is 4cm?. If there is a border on all the sides of the
chessboard of 2 cm, then the perimeter of the chessboard
is:

(2) 256 cm

(3) 70cm (4) 80 cm

Visit : www.Allpdf.in



. From the top of 120 m high lighthouse, the angle of (1) April ; (2) January

depression of two ships on opposite side of the base of (3) May (4) March
the lighthouse is 30° and 60°. What is the distance between
the ships? (rounded oft d I :
e ships? (rounded oft) 3 47. If x>+ —5=11, then x+ + is equal to:
(1) 327m < 2) 177'm 2 : »
(3) 277m (4) 127m , 2 ) 4
(3) 5 () 2

1
. If C0s0=—=then tan 9 is equal to: v 1 1
V1o : 48. If x+;=4, then x* + — is equal to:
: P :

(D 3 @ 3 (1) 64 Q) 76
] ; ) ' 3) 68 ; @ 72
2 B g I i
; 49. The value 3 +g>< . of is equal to:
. The given pie-chart depicts the percentage of students
coming to school using different modes of transport. Total -
number of students = 1300 =) 7% 2 0
TRANSPORT 1
3 1 S
21% 8% B WALK 50. Ifab+bc+ca‘=8anda+b+c=12then(a2+b2+cz)
I BUS is equal to: _
= B CyCLE : 1) 160 2) 128
22%=1'39% (|} O car 4 5
3) 134 > 4) 144

In the given pie-chart, the percentage difference between 8 L2l S G il AL
students coming by car or bus to coming by walking or 6. M7 @ 8. (1) o 10. 3)

cycling. Nn@|12. @ | B.@ |14 @ 150
ay 25% @) 30% 16. @[ 17. @ | 1. | 190 @) | 20 9
() 20% @) 15% 2. |22 @ | 8.3 |24 @ 25 @

. The given bar chart shows the details of cycle sales bya [26. (1) | 27. (2) 28. 3) 29. 2 7 30. 3)
company between January and May for years 2017 and | 31. (2). |:32. (2) 33. (1) 34. @ 35. 4)

2018. 36. 3 | 37. @ | 38.4 | 39. @ | 40.3)
AL |2 @ [ 8.0 4 ] 450
MAY | 6. @ | 47. @ | 8. [ 9. @ 5 @

6. SSC CPO SI EXAM PAPER-2018
Exam Time: 3:00 PM - 5:00 PM
Exam Date: 14/03/2019

APR

MAR 0

FEB

I. Aand B start walking together from a point. Their steps

JAN
measure: 72 cm and 84 cm respectively. What is the

(4] 200 400 600 800 1000

minimum distance they should walk so that each takes
. ESales2017  MSales2018 exact number of steps?
In the given bar-chart, which month sale shows the (1) 5.04m (2) 3.54m
maximum increase in 2018 as against 2017'? (3) 63m 4 27m

125




2

The given pie-chart depicts the expenditure incurred in
crores towards each sport.

Expense (in crores)

{1 Cricket

Ed Hockey

[ Tennis

B Football

[0 Gymnastics
B Others

In the given pie-chart, what is the difference between the
expenditure incurred on cricket and football?

(1) 21 2) 56

(3) 49 . @ 77

A trader marks the cost of a car 24% above its price and
allows a discount of 15%. If the discount is 2,23,200,
then the cost price of the car is:

(1) %14,25,000 (2) T12,00,000

(3) <15,80,000 (4) T11,60,000

The volume of wood required to make a closed box of

thickness 2.5 cm with external dimensions 90 cm x 75 -

cm x 50 cm is:

(1) 69750 cm? (2) 49050 cm?®

3) 36170 cm? (4) 46720 cm?®

If the surface area of a cube IS 1944rn2, its volume is:
1) 4912 m’ 2) 1648 m?

(3) 2744 m’ 4) 5832 m’

The line graph shows the monthly expenditure by two
families in hundreds:

388 186G

AT @sifpmsmmsnmos B IT

Fout Educarion Haaie Fant

Eptartaioment ¥

CIxbing

el Egmily | welion Eamily K

In the given line graph. what is the difference in
percentage of spending on food between Family J and
K? ,
(H 12.6% .
(3)..13. 7%

) 15.2%
4) 14.9%

10.

11.

12.

The speed of a boat in still water is 6 km/h. If it takes
four times as much time as going upstream as in going
same distance downstream, the speed of the stream is:

(1) 2.5km/h ) 3.6km/h
(3) 5km/h (4) 4.2km/h

Which of the following solids has the highest number of
vertices? ' ;

(1) Triangular Prism
(2) Hexagonal pyramid
(3) Tetrahedron

.(4) Cuboid

The number 30744 is divisible by which of the single
digit numbers:

(1) Onlyby2,3,6and9

(2) All numbers except 5 and 7

(3) Allnumbers except'S. "

(4) Onlyby2,3andé6

(1 +cot?0) (1 —cos?0) is equal to:
1 o 2 1

1
(3) - Notdefined ) 3
ABCD is a cyclic quadrilateral such that AB is a diameter
of the circle circumscribing it and angle ADC = 130°.
Then angle BAC is equal to:

(1) 150° 2) 40°
(3) 50° 4 60°
In the triangle given below, D and E are mid points of
AF and AG respectively. F and G are Inid points of AB

and AC respectively. If DE = 2.4 cm. then BC is equal
to:

B L
(1) 48cm (2) 3.6cm
3) 9.6cm 4) 7.2 cm
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AV

14.

15.

16.

17.

18.

1) 26323

The given pie-chart depicts the expenditure incurred in
crores towards each sport.

Expense (in crores)

Cricket
Edl Hockey

[ Tennis

H Football

[0 Gymnastics
B Others

In the given pie-chart, what will be the central angle of
the sector representing football?

(1) 61.2° 2) 512

&) 2.2 @) 24°

A girl walks to school from her house at 5 km/h speed
for 24 minutes and cycles back the same distance at 8
km/h. The time taken to cycle back is:

(1) 15 minutes (2) 8 minutes

(3) 10 minutes (4) 21 minutes

The efficiency of A is thrice as that of B and efficiency
of B is twice as that of C. If B alone can finish a work in
15 days, in how many days A and C together will complete
that work?

2 1
O 4= @ 63

4
3 73

V4 ++144 is equal to:

1 4
(3) 3.74

1
@ 43

@ 12.17
) 14

3 2
§X 4[7 —(gx (13+ 2))] is equal to:

M 0 @ 3

2

O @ 25

From the monthly income, A spends 24% on household
expenses, 16% on entertainment, 12% on education and
saves the rest. Ifsavings are T3 288 the monthly income
of Ais:

(2) 6,480

(3) 6,654 (4). 36,850

19.

20.

21.

22

05

24.

The perimeter of floor of a square room is 230 m and
height of the room is 5 m. The cost of painting the walls
of the room at ¥7.50/m? is:

(1) %4,312.50 (2) 3,450
() 8,625 4) T17,250

1 1 :
If x+==4v3 then 2 + — is equal to:
X X

(1) 52 2) 44
3) 56 4 46
Nidhi scores 62 marks in Mathematics, 70 in English,

74 in Science. What should be her score in Social
Sciences so that she gets an overall 68%?

(1) 65 (2) 68
3) 67 (4) 66
The ‘average temperature for a week was 30°C. If the
average temperature for first four days of the week was

31°C. then the average temperature for the remalmng
days of the week is:

(1) 28.5°C (2) 28.67°C
{3) 2933°C - (4) 29°C
A boy walks from his house to the park which is 500 m

away in 5 minutes and walks backs in 7 minutes. His
average speed (in km/h) is:

1 s 2 1
(3) 2.5 @ 12

The line graph shows the monthly expenditure by two
families in hundreds:

iR Ry

Foot Edutation Enterainment

ey Aty | melwem FRTRY K

In the given line graph, if the monthly income of Family
K increases to 33 7,200. What will be the increase in
expenditure on entertainment? (Assuming they spend the
same proportion as before. round off to one decimal)
(1) 50.7 ) 43.8

(3) 46.2 4) 519




25

26.

27

28.

29.

(3) 50
. A ladder leaning against a wall makes an angle of 60°
with the horizontal. If the foot of the ladder is 10 maway

The given bar chart shows the sales of books (in
thousands) in four metro branches of a company for the
years 2014 and 2015.

128
100

Delki

Kolkats

Channal

Mumbai

Bllzons

In the given bar - chart. which branch has the highest
increase in sale (in %) in 2015 as compared to 20147

(1) Mumbai (2) Kolkata
(3) Delhi : (4) Chennai
The length, breadth and height of a box are 506 cm, 345
cm and 230 cm respectively. The length of the longest

scale that w_ill measure the three dimensions of the box

1S:
(1) 30cm (2) 15cm’
(3) 46cm 4) 23cm

What is the difference between the greatest four digit
and the smallest four digit number using the digits 2, 9,
6 and 5 (each digit can be used only once)?

(1) 7083 (2) 6993
(3) 6606 (4) 7056

¥2,64,000 is invested for 3 years at 8.25% p.a. simple
interest. The interest is:

(1) 65,340 (2) 87,120
(3) 21,780 (4) 43,560
There are 50 paisa, 25 paisa and ¥ 1 coins in a bag in the

ratio 5 : 8 : 1. If the total value of all the coins is T55.
how many 25 paisa coins are there in the bag?

(1) 10 @) 25
4) 80

from the wall. what is the length of the ladder?
(1) 346m (2) 40m
(3) 17.3m (4) 20 m

31.

32

33.

34.

35.

36.

37:

The given bar chart shows the sales of books (in
thousands) in four metro branches of a company for the
years 2014 and 2015.

120

188

Kotkats

Chennsi

Ezo1:Mll01s
/

In the given bar-chart. the ratio of total sales between
Mumbai and Delhi is:

(1) 2325 ) 26 ¥29

(3) 31:36 (4) 33:37 _
On what sum of money. the interest for one year at 12%
p.a. compounded half yearly is ¥1,545?

(1) %12,500 «(2) T12.875

(3) 25,750 (4) %24,300

¥7,80,516 is divided among A, B, C and D in the
proportion of 2 : 3 : 4 : 3. The share ofC is:

(1) T1,30,086 (2) %2,24,562

(3): £2.60,172 (4) %1,95,129

PA and PB are two tangents to a circle with centre O.
from a point P outside the circle. A and B are points on
the circle. If £~ APB =70°. then £ OAB is equal to:

(1) 50° 2) 15
33 20° (4) 25°
What percentage is 3 cm in 12 m?
(1) 0.025 @) 25 -
(3) 0.25 4 2.5

The top of a broken tree touches the ground at an angle
of 60° and at a distance of 45 m from the base of the

tree. The total height of the tree is: (Use /3 =.73and

J2'=141)
(1) 167.85m (2) 153.45m
(3) 1413 m (4) 13724 m

A mobile cover costing T264 is available at a discount
of 12%. What would be the selling price of 4 such mobile
covers?

(1) T940.46
(3) T929.28

(2) T934.04
@) 7936.72°

Q



. If 4tanf =3,

38. The line graph shows the monthly expendlture by two

families in hundreds:

188 o

Fand Educatice Entertaioment

o FAreify } el Faroily &

~ Inthe given line graph. what is the ratio of the difference
- in spending between food and education for family J and
K?
(1) 21:34 (2):31:36
(3) 13:25 @) 9:2 :
. The given bar chart shows the sales of books (in

thousands) in four metro branches of a company for the

years 2014 and 2015.

LT e

pii ol

£8g -

o Mumbai

.Channai Deihi

Bro:sMizons

In the given bar-chart, calculate the percentage increment
of sales between the year 2014 and 2015 (round off to
one decimal).

(1) 14.9%
3) 15.1%

@) 14.5
@) 13.7

. Adiagonal of a quadrilateral is 40 cm. The length of the
perpendiculars from opposite vertices is 7.5 cm and 8.6
cm. The area of the quadrilateral is:

(1) 288 cm? (2) 322 cm?
() 434 cm? (4) 368 cm?

Ssinf—3cos@

> 5sin@+3cosd is equal to:

42.

43,

44,

45.

46.

47.

48.

1 1
(D% 2 3
3 9 . @4 3

The angles of a triangle are 2x — 3, x + 12, x— 1. The
largest angle of the triangle is:

(1) 55 ) 42

3) 9% 4 83

IF2x -5+ (x—4) + (x - 11 =3(2x-5) x—4) (x—
11) then what is the value of x?

(H 5 2 7

3) 3 4 18

Ifa’—b°=416 and a — b, then (é +b)? - ab is equal to:
(1) 38 2 32 :

3) 52 4) 42

The given pie-chart depicts the expenditure incurred in
crores towards each sport.

Expense (in crores)

Cricket

E3 Hockey

[ Tennis

B Football

[0 Gymnastics
I Others

In the given pie-chart, what is the ratio of expenditure
between hockey and gymnastics?

(1) 24:17 2) 64:5

3) 16:9 (4) 36:5

A sells 12 bicycles at a profit of T516 per bicycle and
sells 3 bicycles at a loss of 129 per bicycle. If the total

profit percentage on all the bicycles sold is 15%. the
cost price per bicycle is:

(1) T4440 (2) %2960
(3) %2580 (4) T3870
7T-(4%x3-(-10)x 8 + (-4)is equal to:
(1) 53 ) 0
(3)~1 4 15

21 typists complete a project in 8 days.:In how many
days 15 typists will complete the pI‘OJ ject?

{1y d1.2 ) 93
3) 7 4) 5.8

| Visit : www.Allpdf.in



49. Three pipes X, Y and Z discharge three different 4,
chemicals A. B and C in a tank. The pipes can fill the -
tank in 20, 25 and 40 minutes respectively. What will be
the proportion of chemical B in the tank, if all the pipes
are open for 10 minutes?

11 13
(s 2 5

8 4 5.
) @ 7

50. A pipe can fill a tank in 32 minutes. Due to a leakage,
the tank gets filled in 48 minutes. The time the leakage
will take to empty the full tank is:

(1) 1 hour 56 minutes (2) 1 hour 42 minutes 6.
(3) 1hour20 minu;és (4) 1 hour 36 minutes
1. @) ) Q) 4. @) 5.
6 ) |71 @ . ) 9. . (3 10. 2)
Hm.@:kF12 & | 13:0) 14. (1) 15. (1)
16. 1) | 17. 4 18. (4) 19. (3 20. 4) g
21. @ | 22. () 23. (1) 24. (1) 25. (1)
26. @ | 27. (D) 28. (1) 29. 4 30. 4)
31. 3) ] 32, (1) 33. 3) 34. (2) 35. 3)
36. M) | 37. @ | 38.) | 39. 3| 40.Q)
41. 1) | 42. 4 43. (1) 44. (3) 45. (4'4) e
46. 3) | 47. D 48. (1) 49. (3 50.°(4)
7. SSC CPO SI EXAM PAPER-2018
Exam Time: 10 :00 AM - 12:00 PM
Exam Date: 15/03/2019

1. The sides of a triangle are in the ratio 3 : 4 : 5. If the =
perimeter of the triangle is 24 cm, its area is:
() 18cm? 2) 24 cm?

3) 20cm’ : (4) 22.89 cm’

2. In an office of 1200 employees, the ratio of urban to
rural members of staffis 8 : 7. Afier joining of some new
employees. out of which 20 are rural, the ratio becomes 10.
5 : 4. The number of new urban employees is:

(1) 100 (2) 8 :
3) 76 4) 108

; 3. Ascored 73,76, 20, and 7 runs in four out of five innings.
What should be his score in the fifth innings, if he has to 11.
‘make an average of 55 runs in five innings?
(1) 99 ' &y 11
3.3 4) 42
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¥4,06,736 is divided among A, B and C such that the
ratio between Aand Bis2:3and Band Cis 1: 2. The
share of C is:
(1) 73,952
(3) T2,64,796

(2) %1,10,928

(4) 2,21,856
1 ‘ Loy

If x+; =243 , then x? + o equal to:

(1) 8 -
(3). 10

@) 16
@) 12

: Ly 4
The distance between two cities is covered in 3Zhours

at a speed of 52 km/h. If the speed is increased to 65 km/

- h. how much time would be saved?

(1) 39 minutes (2). 45 minutes
(3) 40 minutes (4) 42 minutes

The product of two numbers is 45360; if the HCF of the
numbers is 36, then their LCM is:
(2) 630
3) 126 @) 1260

¥2,40,000 is taken as loan for three years compounded
annually at 12.5% p.a. At the end of first year. the interest
is revised to 12% p.a. The total amount to be repaid at
the end of third year is:

(1) %3,26,400 (2) ¥3,34,800

(3) 3,38,688 (4) ¥3,42,648

ABCD is a cyclic quadrilateral such that is a diameter
of the circle circumscribing it and angle ADC = 125°.
Then angle BAC is equal to:

1) 20° (2) 30°

3) 60° 4) 35°

How many soap cakes of size § cm x 4.5 cm X2 cm can
be kept in a carton of size 11 m x 0.82 m x 0.63

(1) 81052 (2) 75626
(3) 73498 4) 78925
8% of 5 litres is:

(1) 0.4ml (2) 400 m!
(3) 40ml (@ 4ml
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13.

14.

15.

16.

The given bar chart shows production of steel by
companies A, B, C and D for years 2014, 2015, 2016
(m tonnes).

B3t Hok: - i

In the given bar-chart, the average production of steel at
‘C’ for the year 2014-2016 is:

(1) 358.33 (2) 333.33

(3) 423.58 (4) 400

If the height of an equilateral trlangle is 1043 cm, the
area is:

(1) 12443 cm? (2) 753 cm?

() 803 cm? (4) 100y3 cm?

PA and PB are two tangents to a circle with centre O,
from a point P outside the circle. A and B are points on
the circle. If £~ PAB = 86°, then £ OAB is equal to:

(1) 43° (2) 45°

3) 50° @ 20°

Which of the followmg solids has least number of faces?
(1) Cube (2) Cone ,

(3) Triangular prism (4) Square pyramid

The given bar chart shows production of steel by
companies A, B, C and D for years 2014, 2015, 2016
(in tonnes).

B 1ol g 2ees

In the given bar-chart, which company has the maximum
total production of steel?

(1) C
3) A

@) D
4) B

Instructions

The given pie-chart shows the numbers of tourists for
the year 2015, traveling from India and to India.

From India

USA

B Europe
[ Australia
W Africa

USA

B Europe
[ Australia
B Africa

17. Inthe given pie-chart, if 1657850 is the total number of

18.

19

tourists visiting India, how many visited from Australia:

(1) 563669 (2) 589320

(3) 457602 (4) 331570

In the given pie-chart. from which ¢ountry tourists have
come to India more than Indians going to that country:
(1) Australia and Africa

(2) Europe

(3) USA

(4) Australia only

The given bar chart shows production of steel by
companies A. B, C and D for years 2014, 2015, 2016
(in tonnes). -

b

e

w14fillzosl8 2005

Inthe given bar-chart, what is the percentage production
of ‘B’ in 2014 to the total production of 2014?

(1) 19.4% ) 20%
3) 27.6% @) 18.6%




20.

21

20

23.

24.

25,

26.

27.

The price of petrol was raised by 15%. By how much
percentage should a motorist reduce the consumption of
petrol so that the expenditure on it does not increase?

2 S
2o 15=—0
(1) 9% @ 153%

1 / 7
@) Bx% @) 6%

If a cuboid has | = 24 cm, b=16cm. h=7.5 cm, its
lateral surface area is: -

(1), 720 cm® (2) 2880 cm?
(3) 600cm? (4) 1440 cm?
TWO pipes A and B can fill a tank in 45 minutes. If pipe

A can fill an empty tank in 1 hour, how long will it take
pipe B to fill the empty tank?

(1) 2 hours (2) 3 hours

(3) 1hour (4) 4 hours

The number 66249 is divisible by which of the single
digit numbers: |

(1) Onlyby 3 and9 (2) Only by 3 and 7

(3) Onlyby9 (4) Only by 3

The marked price of a dress is ¥2,340 which is 25%

above the cost price. If the dress is sold at a profit of -

10%. the profit earned on the dress is:

(1) 2234 (2) T187.20

(3) %197 (4) %175.50
Ifx=acosf +bsin® andy =asin0® — b cos6, the
value of x? + y?is:

28.

29;

30.

(1) a2-b* (2) a-b
(3). a2 +b @) a+b -
A and B are standing on the same side of a wall and
observe that the angles of elevation to the top of the wall 3L
45° are 60° and respectively. If the height of the wall is
50 M. the distance between A and B is: (Use /3 =1.73and
V2 =141)
(1) 25.07m 2) 21.10m 32.
(3) 1738 m 4 14.65m
Three painters have to spend 6 hours a day for 2 days
to finish a work. If after 3 days one painter leaves, in
kow many days the remaining work will be completed?

A 2 : 1

15— e
(1) 153 @ 133
3 1 48

132

The value of 4 sin?30°+ 3 cot?> + 60° is:"

1
d) 1 @

3 2 @ 0
A pipe can fill a tank in 30 minutes.' Due to two leakages |

A and B, the filled tank would be drained offin 1%hour

and lzhour respectively. How long will it take to fill

the tank if the pipe, A and B are left open?

o 1
(@)) 1§h0ur 2 lghour

4 5
3) 1ghour @) 1ghour

The table shows Income and expenditure of a person for
3 years (in thousands):

Statement of Income and Expenditure
Year Income | Expense | Savings
2000 110 103 tf
2001 223 214 +9
2002 243 197 +46
2003 189 232 43

In the given table. if a persoﬁ invested his savings every
year at 8% simple interest, how much interest will he
earn at the end of 2003?

(1) 7.46 (2) 6.80
(3) 4.96 (4) 5.52
A drives at the rate of 45 km/h and reaches its destination
4 minutes late. If speed is 60 km/h. A reaches 5 minutes

“early. The distance traveled by Ais:

(1) 24km () 21Lkm
(3) 27km (4) 30 km
A tall rectangular vessel is half filled with water. The
base dimension of the vessel is 62 cm x 45 cm. A heavy

metal cube of edge 15 cm is.dropped into the vessel. The
rise in level of the vessel is:

(1) 1.21cm
2y Ll5em
(3) 107 cm
(4) lcm




21
=D,

i

The given pie-chart shows the numbers of tourists for
the year 2015. traveling from India and to India.

From India
USA
B Europe
[ Australia
M Africa
[ usa
B Europe
[ Australia
M Africa
In the given pie-chart, if the number of tourists visiting
India is 21,35,600 and the number from India to other
countries is 20,45,450, how many more people visited
USA from India than from USA to India?
(1). 303833 (2) 358097
(3) 342675 (4) 287698
A bought 600 gm, 750 gm, 1.1 kg; 2.3 kg and 800 gm
packs of dal from a shop. What is the average weight of
the packs?
(1) 11.1kg (2) 111gm
(3) 1l.l1gm (4) 1.11 kg
A trader gives a discount of 4% for purchases above
25,000, 6% for purchases above 335,000 and 8% for
purchases above ¥50,000. If an item is purchased for
¥38,500. what would be the amount of discount?
(1) 73,740 2 1,810
(3) 3,080 4) 2,310 . :
Ifthe height of a pole and the distance between the pole
and a man standing nearby are equal, what would be the
angle of elevation to the top of the pole?
(1) 60° (2) 90°
(3) 30° (4) 45°
57 (A)x(-8) + (2)+3 x5 s equal to:
)=t @1
3) 31 (4) -31
The table shows Income and expenditure of a person for
3 years (in thousands):

39.

40.

41.

42.

43,

44,
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Statement of Income and Expenditure
Year Income Expense Savings
2000 110 103 +7
2001 223 214 +9
2002 243 197 +46
2003 189 232 43

In the given table, what is the percentage of expenditure
on income in the year 20022(round off) :

(1) 85% 2) 78%

3) 82% 4 81%

The dimensions of a swimming pool are 66 m x 35 m x
3 in. How many hours will it take to fill the pool by A
pipe of diameter 35 cm with water flowing at speed 8 m/
s?

(L2 (2) 35

3): 25 4) 3.2

The price of a refrigerator is 322,000. A shopkeeper
marks its price 15% above its cost price and gives a
discount of 8%. The discount is:

(1) %1,960 (2) %1,824

3) %1672 -~ (4) 2,024

The least number that should be added to 10000 so that
it is exactly divisible by 327 is:

(1) 327 (2) 237

(3) 137 4 190

A car consumes 5.4 litres of petrol to cover 60.48 km,
how many kilometers be covered with 22 litres of petrol?
(1) 246.4 (2) 23862

(3) 240.24 (4) 2435
@x=1Y+Bx-4)+(x-7)p= (6x-3)(3x-3) (x-7),
then what is the value of x?

1 5 2) 8

(3) 2 4 3

The table shows Income and expenditure of a person for
3 years (in thousands):

Statement of Income and Expenditure
Year Income Expense | Savings
2000 110 103 +7
2001 223 214 +9
2002 243 197 +46
2003 189 232 43

In the given table, if a person reduced his expenditure by
10%, by how much would his total savings increased?

(1) 69.8 ) 83
(3) 74.6 (4). 782




45.

46.

47.

48.

49,

The greatest number of four digits which is exactly
divisible by 24, 36 and 54 is:

(1) 9990 (2) 9924

(3) 9936 (4) 9960

The simple interest on a certain sum at 15% p.a. for
three years is ¥7,200. The sum is:

(1) 16,000 (2) 724,000

(3) 32,000 (4) 48,000

Ifa’+b*=416and a+b=16, then (a—b)*>+ ab is equal
to:

()32 Q) 22
(3) 24 4) 26
The cube root of 3375 equal to.

T} 35 @) 25
(3) 55 4) 15

A marketing agent earns a commission of 2% on first

¥2,00,000. 1.5% on next ¥2,00,000 and 1% on the

remaining amount of sales made in a month, Ifthe sales
achieved by the agent for the month of April 2018 are
¥5,68,000, the commission earned is:

(1) 78,680 Q) 27,730

(3) 78,240 (4) 27,105

3. -5t 1:8: 4
50. Z+'2‘[Zx[‘5'“‘§ﬂ is equal to:

M 5 @ 2

® 5 @ 5
L ol Ol 014 &5 06
6l @l 8 319 @licw
Wr@rt 12 | 1Bo@ s oL 15 e
et ol Boln @l 00
i@l gl el 2.0 250
% @12 o 28@ % " 300
3. @ 32,0 ] 3.0 [ 34 @ 35 @
36. (@) | 37. (1) | 38.(@ | 39. 3) | 40.(@
A | B4 0l 5.
46. (1) | 47. @ | 48.@ | 49. ()| 50. @
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8. SSC CPO SI EXAM PAPER-2018
Exam Time: 3: 00 PM -5 :00 PM
Exam Date: 15/03 /2019

9 : :
— converted to percentage is: .

40
(1) 25 @ 2
G) 22 4) zz%

Four bells ring simultaneously at a certain instant.
Thereafter they ring at intervals of 6, 8, 10 and 12 seconds
respectively. In how many minutes will they ring togethes
again for the first time?

: Lo
(1) 2 minutes ) Zmeutes,

(3) 1 minute 4) 1—;— minutes

The number 106974 is divisible by which of the single
digit numbers:

(1) 2,3,6and 7 only (2) 2,3 and 7 only

(3) 2,3 and 4 only (4) 2and 3 only

ABCD is a cyclic quadrilateral such that AB is a diametes
of the circle circumscribing it and angle ADC = 148°
Then angle BAC is equal to: :

(1) 60° (2) 58°
(3) 40° (4) 150°
The face value of the digit 6 in 16008 is:
(1) 6 (2) 600
(3) 6000 (4) 60

The given bar chart shows population of 4 different states
in 3 years (in crores).

80
2
60
40
Ty
20
10

{¢]

' Kerala TamitNadu  Bihar

Assam

Eboos.  Hzo1o  W2015

In the given bar-chart, what is the ratio of increase in
population in Bihar between 2005 and 2010 to that
between 2010 and 20157
(a7
3y 5:8

@) 743
@) 8:5

.
A

Visit : www.Allpdf.in



cosec31° -,
is equal to:

sec59°
(1 1 @ 3
3) 0 4) 2

A man covers the first 210 km of a journey at 60 km/h
and the next 198 km at 66 mm. The average speed for
the whole journey is:

(1) 64km/h (2) 63km/h
(3) 62.8km/h (4) 68.5km/h

Three pipes A, B and C can fill a cistern in 15, 24 and 36
minutes respectively. If pipe D can drain a full tank in
lhour. how long will it take for the tank to be filled if all
the four pipes are kept open together?

12
2 P hours

1 '
9—
@1 2 hours 25

i)
3) 7—3— hours 4) 8— hours

. From the top of a hill 96 m high. the angles of depression
of two cars parked on the same side of the hill (at same
level as the base of the hill) are 30° and 60° respectively.

The distance between the cars is: (use /3 =1.73and round
off to nearest whole number.) ; :

(1) 165m 2 11lm

3) 220m (4) 243 m

. The sum of three numbets is 777. The ratio between the
first two numbers is 7: 9 and the ratio between the second
and third number is 3 :7. The second number is:

(1) 252 ) 63
(3) 189 4) 147

. The given pie-chart shows the taxable income for A, B,
C and D in lakhs of rupees.

Taxable Income

ThIS chart shows the tax pa1d for the above taxable
income by A, B, C and D in lakhs of rupees.

13.

14.

soh GR L ayedng
i .".1‘5,:"

: : G) 18

Tax Paid

In the given pie-chart, what is the percentage of tax
charged for A?

(1) 30% 2) 15%
3) 40% 4) 20%
Two numbers are in the ratio 4 : 9. If both the numbers

are increased by 12, the ratio becomes 11 : 21. The sum
of the original numbers is:

(1) 128 (2) 64

3) 52 4) 104

The given pie-chart shows the taxable income for A, B,
C and D in lakhs of rupees.

Taxable Income

This chart shows the tax paid for the above taxable
income by A, B, C and D in lakhs of rupees.

Tax Paid

In the given pie-chart. if B’s taxable income was 12%
more. how much tax would he have paid then?

1) 09 () 10.8
(4 0.108
If (x— 6)3+(x 4P+ (x- 5= (3x—15)(x 4) (x— 6)'

*.'then what is the value of x? . . ~

2 gk

(g _
R




16.

17.

18.

19.

20

21

1,22,

An 18 m deep well with diameter 7 m is dug and the
earth from digging is spread evenly to form a platform
18 m x 14 m. The height of the platform is:

(1) 2.6m (2 3.05m
(3) 2.75m (4) 32m

Two pipes A and B can fill a tank in 20 minutes and 30
minutes respectively. If only pipe B was kept open in the

1 : j
beginning for gth of the total time and then. both pipe A

and B were kept open for the remaining time. How many
minutes did it take the pipes to fill the tank?

5 5

13— 16—

(Bileos @) 1o
1 1 2%

16— 13—
(3) 165 @ 135
If the area of a regular hexagon is 1083 émz, its
perimeter is: 24.
() 24cm (2) 3642cm
(3) 28/3cm (4) 433cm
A bucket is drawn from a well by means of a rope which 25.
is wound around a wheel of radius 48 cm. If the bucket
ascends in 1 minute 12 seconds at a speed of 1.2 m/sec.
find the length of the rope.
(1) 8.64cm (2) 86.4cm 26.
(3) 864 cm ~(49) 8640cm
A paper in the form of a rectangle is cut diagonally to
form two triangles. If the diagonal measures 4./5 cm and
the length is twice the breadth, the area of the rectangle
is: ;
(1) 54 cm? (2) 32cm?
(3) 72 cm? (4) 80 cm?

| L
Bire =342 then x2 + =i equal to:
(1) 22 ) 16
(3) 26 4 14
Tke line graph shows the temperature on four Sundays
of three cities.
136

3

30 i e s g ez, o

%g b SR % // L

5

¢ =

12 B RN

10 53

&

6

4

2

4] . ; Y
istSunday 2nd Sunday drd Sunday 4thSunday

wssmsns DETh s Musmibai ssse Chennal

In the given line graph. what was the average temperature
on the 1 Sunday in all the three cities? (rounded to first
decimal) ‘
(1Y 212 (2) 254 y

3) 23 > 4 24

A dealer allows a discount of 12% on the marked price.
If the selling price is ¥924, the discount is:

(1) 126 (2) 2110.90

(3) 114 4) 2119.20

What is the angle of elevation of the sun from the top of
avertical pole when its height is equal to the length of i its

“-shadow?
(1) 90° S42) 60"
(3) 45° “4) 30°

PA and PB are two tangents to a circle with centre O,

. from a point P outside the circle. A and B are points on

the circle. If £ APB =100°, then £ OAB is equal to:
(1) 25° 2) 20°

(3) -35° 4) 50°

The line graph shows the temperature on four Sundays
of three cities.

34
32 Py
%g “"3’0 W ; N””"Nm EA-3 ‘M
26 3
28 i 3. e
22, %W e
20 - -
18 ol 3.8 N‘“"i,%
15, - : 15
e o
14
14 %,__W
10 10
8 .
6 e
4
2 .............
G : & | 1 1
IstSunday 2ndSunday 3rdSunday 4th Sunday
oot DI e MUMD 3] o ChiersrvE

In the given line graph. what was the difference in
temperature between Delh1 and Chennai on the 3%
Sunday?
(1) 21
(3)17

@) 8
@) 13
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28.

29.

30.

31.

32.

3.

34.

Find the compound interest at the rate of 7% pa
compounded annually for two years on the principal that
yields a simple interest of ¥9450 for 3 years at 7% pa.
(1) T12,678.40 (2) %6,520.50 -

3) T12,345.20 (4) 10,127

What is 34% of 1.2 km?

(1) 4,080 cm (2) 4,08,000 cm

(3) 408 cm (4) 40,800 cm

The selling price of an article is Z2,28,528. A shopkeeper
marks its price 15% above its cost price and gives a
discount of 10%. The cost price is:

(1) %2,20,800 (2) %2,58,740
(3) %2,87,390 (4) %2,18,650

1 I
A cando gth of a work in 4 days and B can do % th of 35

the same work in 5 days, In how many days they can
finish the work, if they work together?

()12 2) 20

3) 15
The compound interest calculated yearly on a certain

sum of money for the second year is ¥ 1,320 and for the
third year is ¥1,452. The principal amount at the start

of the first year is:

(1) 13,200 (2) 12,970

3) 12,650 (4) 12,000

The greatest number of 5 digits that is exactly divisible 5
by each of 8, 12, 15 and is: '

(1) 99950 (2) 99940

(3) 99980 4) 99960

13 + {40f2-3+4 x(6-4)} is equal to:
e

(1) ‘23 . (2) 1

3) 0 4 1.3

The given pie-chart shows the taxable income for A, B,
C and D in lakhs of rupees.

Taxable Income

BaA
BB
Oc
HED

38.

This chart shows the tax paid for the above taxable
income by A, B, C and D in lakhs of rupees.

Tax Paid

In the given pie-chart. what is the overall tax percentage
for all four?

1 17.2% 2) 15%
(3) 21.3% 4) 19.5%
. Ifa’-b’=216 and a— b, then (a + b)* - ab is equal to:
(1) 42 ) 36
(3) 38 (4) 52

The average weight of six children is 32.8 kg. If two
more children weighing 26.5 kg and 28.3 kg are added
to the group, what would be the new average weight in
kilograms?

(1) 31.45
(3) 292

(2) 303
4) 289

. 2 ‘
. A and B can finish a work together in 35 days.Cand D

1
can finish the same work in 37 days.IfA, B, C and 4 do

the work together. how long will it take for them to finish
half of the work? :

: 1 8
1) 13 days ) Edays

11

2
(3)» Edays (@) e} days

The area of a right angled triangle having base 24 cm

- and hypotenuse 25 cm is:

(1) 92 cm?
(3) 108cm?

(2) 72 cm?
4) 84 cm?




39.

40.

41.

42.

The given bar chart shows population of 4 different states  43.
in 3 years (in crores).
80
70 &8
60
50 44,
a0 - : e :
30 - 5 ~ —
20 .
10 - i3 ......
0 - , :
Kerala TamilNadu  Bihar Assam 45.
Elzcos M20i0  M01s
In the given bar-chart. which state has had the maximum
population growth in 2015 compared to 2005.
(1) Assam (2) Tamil Nadu 46.
(3) Bihar (4) Kerala
A 230 m long train has to cross a platform of length 750
m. If the train is running at a speed of 72 km/h. the time
_taken is:
(1) 49 seconds (2) 58seconds
(3) 64 seconds (4) 72 seconds
The given bar chart shows population of 4 different states ~ 47.
in 3 years (in crores).
80 »
70 68
60 2 : I o s
50
40 b . B
30 - _ .
20 i B Ly
10 . . B
0 - , ‘
Kerala: TamilNadu  Biher Assam
Bzo0s W20 Mo
In the given bar-chart, what is the population growth (in
crores) in total in states Kerala and Tamil Nadu for the
period between 2005 and 2015?
(H:13 2)9
(3) 10 @ 1
The ratio between a base angle and a vertical angle of an
isosceles triangle (base angles beingequal) is2: 5. The  4¢
vertical angle is: : ;
(1) 140° (2) 40°
3) 100° 4) 80°
138

The length of the longest pole that can be placed in a
room 16 m long, 8 m wide and 11 m high is:

(1) 20m (2 2l m
3) 19m (4) 18m

If the selling price of an article is 1; of its cost price, the

percentage gain is.

1) 47 (2) 40

(3) 20 @) 25

The smallest number that should be added to 8212 to
obtain a perfect square is:

(1) 123 2) 69

(3) 54 @4 112 :

Salary of A increased by 8% in the year 2015 as compared
to 2014 and decreased by 6% in ‘the year 2016 as
compared to 2015. If his salary was ¥2,34,778 in 2016,
his salary (round ofi to nearest whole number) in 2014
was: , ;
(1) . T231.263 (2) T2,34,987

(3) ¥2,38,347 (4) %2,36,402

The line graph shows the temperature on four Sundays
of three cities.

34
32 O ¥ 4
%g s s e Bilaha = SHE P
25 A~
24 B T B %‘ //
2 Y B
18 el 88 18
%2 “"‘L&NN 16
10 %
3
5
4
2

1stSunday 2nd Sunday 3rd Sunday 4th Sunday

Delhi Mumbai Chennat

In the given line graph, when was. the maximum
temperature recorded in Chennai?

(1) 4th Sunday (2) 1st Sunday
(3) = 3rd Sunday (4) 2nd Sunday

2

i tan“ 4 s

TTseo 4 IS equalto:
(1) SecA (2) CosecA
(3) cosA (4) sinA




49. A square piece of cardboard with side 12 cm has a small
square of 2 cm cut out from each of the corners. The
resulting flaps are turned up to make 2 box 2 cm deep.
The volume of the box is:

(1) 94cm (2) 102em>

3) 128 cm’ @ 112cm’
50. 10-{72-12 +(59 +9 x 2)} is equal to:

(1 -5 2 7

3) 5 ) 7
1. @ 2 () 3. (1) 4. @) 5. (1)
6. . 34 7. (1) 8. 9. @ 10. (2)
11. @) | 12. 13. (4) 14. (3) 15. (4)
16. 3) | 17. @) 18. 2) 19. @) 20. 2)
21..2) | 22. @ 23. 2) 24. () 25. 4)
26. (1) | 27. @ 28. 9 29. (1) 30. (1)
31. @) | 32. ¥ 33. 2) 34. (3 35. 2)
36. (1) | 37. 4) 38. 4) 39. (1) 40. (1)
41. (1) | 42. 3) 43. ) 44. (2) 45. (2)
46. (1) | 47. (3) 48. (1) 49. (3) 50. (1)

9. SSC CPO SI EXAM PAPER-2018
Exam Time: 9:00AM - 11:00 PM
Exam Date: 16/03 /2019

1. A square cardboard with side 3 m is folded through one
of its diagonal to make a triangle. The height of the
triangle is:

3
M Lm @ 243m
2
3) 32 m @ Hm

2. What percentage of T124 is T49.60?
(1) 250 ) 16
3) 123 4) 40

3. sinl8—cos72%is equal to:

1
M 3 @ 0
(3) 2 @ 1

4.  The surface area of a cube is 1176 cm?. Its volume is:
(1) 3486 cm’ (2) 3206 cm’

3) 2744 cm?® 4) 3964 cm®

o

8.

A boy is standing near a pole which is 2.7 m high and the
angle of elevation is 30". The distance of the boy from

the pole is (ﬁ=1.73): {
(1) 4.68m () 463m
(3) 4.53m (4) 442m

Find the inner surface area of four walls of a rectangular
room with length 7 m breadth 5 m and height 3.5 m

(1) 168 m? 2) 84 m?
(3) 126 m? (4) 42 m?

The given pie-chart shows runs scored by A in 6 matches.

Score-Runs
= M 1st Match
] 2nd Match
E 3rd Match
—~——112 [ 4th Match

® e »
7 e | & .5: B 5th Match
o8 [ 6th Match
72

In the given pie-chart. if A scored a century in matches 4
and 6, What would have been her average score?

(1) 89.7 (2) 934

(3)/91.2 (4) 845

The line graph shows the temperature on four Sundays
of three cities.

s
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e Dl i s MUmbai s Chennai

In the given line graph, what was the difference in
temperature between Delhi and Mumbai on the 2nd
Sunday?
(L) +13

(3):72

@ 172
@ 21




9.

10.

11.

12.

13.

The given bar chart shows number of marks scored by a
student in each subject in three years: :

R G R
60 14.
50 .
40
30 :
20 15.
10
0 .
Mathematics  Science English  Social studies
2008 2010 W2012 16.
In the given bar-chart. what is the percentage increase in
marks in Mathematics in 2012 compared to 20087 (round
off)
(1) 89 (2) 100.
3) 9 @ 92
On dividing a number by 38, the quotient is 24 and the
remainder is 13, the number is: 17.
(1) 956 ° 2) 904
3) 925 4) 975
A can do a work in 12 days and B can do same work in
18 days. After 5 days of working together, how much
work will be left? :
- A A
@) 35 : : %) 35 18.
S0 5
G) 3 @ 3
A customer gets a discount of T90 which is 12%. The
selling price is:
(1 %770 (2) T540 19.
(3) T660 (4) %580
The line graph shows the temperature on four Sundays
of three cities. :
34
> R e 20.
O T A -t
%% 83 Ni‘*«m.m/ e
%6 k‘m._ i il
1 b8
10 B
§ 21,
1st Sunday 2nd Sunday 3rd Sunday 4th Sunday
vemernnns et hi e Mumbai oo Cheninai
140

In the given line graph, when was the maximum
temperature recorded in Delhi? -

(1) 1% Sunday © (2) 2™ Sunday

(3) 4% Sunday (4) 3" Sunday

If 23 — b= 208 and a— b, then (a + b)? — ab is equal to:
(1) 42 (2) 38

(3) 52 4) 26

The base of an isosceles triangle is 6 cm and its perimeter
is 16 cm. Its area is: : :

(1) 11cm?
(3) 9cm?

2) 12cm?
4) 10cm?

_If the compound interest at rate of 10% p.a compounded

4

1 : ‘
half-yearly for IE years is ¥2,522. The principal amount

is: :
(2) 15,400

(1) 16,000
" (3) 18,500 (4). 20,000
14-6x2 | ‘

52343 18 equal to:

1

oY = 2 2

3 = @ 62
6] 3 ) 6%

At a certain time of a day a tree 5.4 m height casts a
shadow of 9 m. If a pole casts a shadow of 13.5 m at the
same time, the height of the pole is:

(1) 63m 2) 99m

(3) 72m @4 81m

Three partners A, B and C, share profits and losses in
the ratio of 3 : 4 : 7. If the profit for the year before
charging 30% tax is ¥1,10,166 what is B’s share of profit
afier tax? :

(1) ¥22,033.20 (2) %24,673.10

(3) 31,476 (4) %9,442.80

‘The shadow of a tower. when the angle of elevation of
the sun is is found to be 15 in shorter than when it is 45°.

The height of the tower is:
(1) 26,5 m (2) 355m
3) 41.5m 4 205m

ABCD is a cyclic quadrilateral such that AB is a diameter
of the circle circumscribing it and angle ADC = 142°.
Then angle BAC is equal to:

(1) 60° (2) 40°

(3): 32" (4) 50°




" o |

24.

25.

26.

27

28.

(1) 13.44m

One tap can fill a tank in 3 hours and a leak can empty
the tank in 5 hours. If the tap and the leak (which was
half closed) were left open. how long will it take for the
tank to fill? ' :

2 e
(1 4—7* hours ) 75 hours

1 2%
3) 55 hours i £ 65 hours

64 !
25 converted to percentage is:

(1) 25,6 (2) 256
3) 0.256 4) 2.56
Pipe A can fill a cistern in 4 hours and another pipe B is

1
installed. Both the pipes together fill the cistern in 25

hours. How long will it take for B alone to fill the cistern?

2 ,
0] 65 hours (2) 5 hours

1 3
3) 5'6— hours ) 6§ hours

If the cost price of 4 chairs is équal to selling price of 3
chairs, then the profit or loss percentage is:

G
€)) 63 hours 2) 20%

2
3) 165 % 4) 25%

A, B and C start walking together from a point. Their
steps measure 42 cm, 56 cm and 64 cm respectively.
What is the minimum distance they should walk so that
each takes exact number of steps?

(2) 14.06 m

(3) 14.58m (4) 15.60 m

The students of a class donated 3,481 towards relief
fund. Each student donated an amount equal to the
number of students in the class. The number of students
in the class is:

(1) 49 2 59

(3) 61 4) 51

The average of all prime numbers between 21 and 50
is(round off to one decimal number):

(1) -32.9 (2) 5.9

(3) 33.7 (4) 34.8

29.

30.

31.

32

33.

34.

35,

36.

37.

The area of a parallelogram is 338 m2 If its altitude is
twice the corresponding base, its base is:

(1) 13 (2) 14
3) 28 4) 26 .
A bouglt 38 kg rice @ ¥ 54.50/kg, 45 kg rice @ 62/kg

and 55 kg rice @ ¥48/kg. He sold the mixture @ 65/
kg. His profit or loss percentage is:

(1) Loss 1.04 (2) Profit 16.8

(3) Loss1.7 (#) Profit 19.6

The product of HCF and LCM of two numbers is 3321.
If one of the numbers is 369, the HCF of the numbers is:
(1) 3 (2) 21

3 9 4) 27

A and B can finish a work together in 30 days. B and C
can finish the same work together in 24 days and A and
C can finish the work together in 40 days. If all three
work together, how long will it take them to complete -
the work?

(1) 15 days (2) 10 days

(3) 20 days (4) 5 days

In what time will a sum double itself at 8% p.a simple
interest? :

(2) 6 years

(4) 12.5 years

(1) 5 years
(3) 8years

1
— is equal to:
2 q

1
If \/‘_\7—;=3‘/—2—,thenx2 il

(b 52 () 56
(3) 20 4). 46

The number 45789 is divisible by which of the single
digit numbers:

(1) Onlyby9 (2) Onlyby3and9
(3) Onlyby3 (4) Only by 3 and 7
(24 + 6 -2)+ (3 x 2 +4) is equal to:
(1) 24 2) 16
3) 20 @ 12
' 2sind g
If 5 cos 8- 12sin 6 =0, the value of w is:
cos ¢ —sin g
75 1
() lses @ 35
34 2
2— 3=
@ 253 @ 3




38.

39.

40.

41.

42.

The given bar chart shows number of marks scored by a
strident in each subject in three years:

80 43.
70
60
50
40
30+
10 +
Q i
Mathematics  Science English  Social studies
[@2008 M2010  W2012
In the given bar-chart, if number of marks in Social
Studies in year 2012 is 13% of the school strength, the
number of students is: >
(1) 400 (2) 540
(3) 500 4) 580 a4
PA and PB are two tangents to a circle with centre O, '
from a point P outside the circle. A and B are points on
the circle. If ZOAB =35° then £ APB is equal to:
(1) 35 2) 70
(3) -25 4 20
The given bar chart shows number of marks scored by a
student in each subject in three years:
80 -
i 68
60
50
40
3g -
20 -
10
0 i
Mathematics  Science English . Social studies
@2008 W2010 W2012
In the given bar-chart, in which subject was the lowest
marks scored in 2010?
(1) Social studies (2) Mathematics 45.
(3) English (4) Science
A train travels at a speed of 76 km/h. If it crosses a pole
in 36 seconds. the length of the train is:
(1) 720m (2) 675m
(3) 760 m : 4 630m
A saves 12% of her income. If she spends ¥2,16,128,
her total income is:
142

(1) %2,42,063 (2) T2,45,600
(3) 2.,48,000. (4) %2,43,560
The given pie-chart shows runs scored by A in 6 matches.

Score-Runs
= B 1st Match
2nd Match
E3 3rd Match
~12° 1 4th Match

o ® »
15— S f’: B 5th Match
‘ [ 6th Match
72

In the given pie-chart, what is the increase or decrease in
score in match 4 as compared to match 2?

1y +27 2) 27

(3) -60 4) +60

The line graph shows the temperature on four Sundays
of three cities. '

3
an ; : w3 -
28 = e 8
54 Y // 26
22 ~—s
20 <
18 % N%&
%g + S x i
12 Rion. R Pl
10 e
8 ‘
6
4
2
Q ¥ H H
1st Sunday 2nd Sunday 3rd Sunday 4th Sunday
senere Dl i Mumbai s Chennai

In the given line graph, what was the average temperature
on the 3rd Sunday in all the three cities? (rounded to
first decimal)

(1) 24 2 23
3) 197 (4) 254
If an airplane covers a distance of 980 km in 35 minutes,

then what time it will take to cover a distance of 1470
km.

fia 1
X e
@3] > hour 2) 3 hours

7 ]
il 15 ~
3) 3 hour @ ¢ hours
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If(2x-50+(x-2P+(Bx-9’=(2x-5) (3x—-9) (3«
+6), then what is the value of x?

10. SSC CPO SI EXAM PAPER-2018
Exam Time: 12:45 PM - 2:45 PM
Exam Date: 16/03 /2019

1 7 {2] 2
3) 18 @ 5
47. The average height of 12 students of a class is 132.5 cm.
If one more strident joins. the average height becomes 1
131.2 cm. the height of the new student is:
(1) 112.7cm (2) 1223 cm
(3) 115.6cm (4) 128.5cm .
48. The liquid in a container is sufficient to paint an area of 2
11.28 m>. How many boxes of dimension 30 cm x 25 cm
* 12 cm can be painted with the liquid in this container?
(1) 40 () 24
(3) 32 4) 12 3.
49. The given pie-chart shows runs scored by A in 6 matches.
Score-Runs
M 1st Match
2nd Match
Ed 3rd Match 4
12 4th Mateh
B 5th Match
[ 6th Match
In the given pie-chart. what is the average runs scored in
all matches? (rounded off) "
(D 85 g () 90
(3) 8 (4) 84
50. Find the weight of a solid cylinder of hei ght 35 cm and
radius 14 cm, if the material of the cylinder weighs 8
gm/cm’.
(1) 172.48 kg (2) 160 kg
(3) 177.44 kg (4) 166 kg
L) 2 @ 3. 02) 4. 3 3 Q)
6.0 @2y |7 @ & (3 G 1) 10. (3) &
11. 2) | 12. (3) 13. (1) 14. @) 15. 2) .
16. (1) | 17. (1) 18. (4) 19.= (1) 20. 2)
2. 3 | 22. (1) 23. 2) 24.. (D 2. 11+
26. (D) | 27. (2) 28. (2 29. () | 30 6
31. 3) | 32. (3 33. @) 34. (3 35. 3)
36. 49 | 37. (2 38. 3) 39. @) 40. (3)
41. 3) | 42. @ 43. 4) 4. 3 45. (3)
46. 2) | 47. (3 48. (1) 49. @) 50. (1)
143

If x—%= 2\/5, then x? + x% is equal to:
(1) 16 2 12
3 4 10

2.4 converted to percentage is.

(1) 0.24 2) 24

(3) 240 @ 24

A can do a work in 30 days, B can do the same work in
48 days. After working alone for 20 days A left and B
started working, how long will B take to'.complete the
work?

(1) 24 days (2) 28 days

(3) 38 days (4) 16 days

The given pie-chart shows favourite sport of students of
a school.

Sports

B Football
[J Basketball
B Hockey

In the given pie-chart, if there were 1280 students in all,
how many liked football?

(H 102 - (2) 550
(3) 230 (4) 384

The sides of a triangle are in the ratio 3 : 2 : 4 and the
perimeter is 72 cm. The sides are:

(1) 24,16, 32 (2) 48,24,12
(3) 36,24, 12 (4) 36,18,9
What percent of 2.4 m is 3.2 cm?

(1 (75% ) 7.5%

1 1
(3) 10007% @ 133%




10.

11

A shopkeeper buys a book for 2,500 and marks its price 12.
at 15% above cost. He allows a discount of ¥345. The
discount percentage is:
() 10 (2)::12
3 1 4 13
13;
7 } 5
A sum at a Simple interest 7 of 8% pa. becomes of itself
in how many years?
e
(D s @ 5 14.
1
(3) 3% “ 2
2
PA and PB are two tangents to a circle with centre O,
from a point P outside the circle. A and B are pointson  15.
the circle. If £ OAB =38°, then £ APB is equal to:
(1) 25 (2) 35
3) 20 @ 76
The largest number of four digits that is exactly divisible A
by 15, 21 and 30 is:
(1) 9840 2) 9910
(3) 9830 (4) 9870
The given bar chart, shows the sales (in thousands) for
sets of televisions of three companies in three years. 17.
i : . 620
600
559 b
500 18.
450
400
350
300
250
200
150 19.
100
50
0
BPL Onida Videocon
1980 m199t m1992
In the given bar-chart, What is a difference between the 20.
average sales of televisions A and B for 3 years?
(1) 78 2). 56
(3) 104 4) 60
144

Two pipes can fill a cistern in 72 and 90 minutes
respectively. If both the pipes are left open how long will
it take for the cistern to be half full?

(1) 40 minutes (2) 24 minutes
(3) 48 minutes (4) 20 minutes

A watch was sold at a profit of 10%. Had it been sold at

%77 more the profit percent would have been 12%. The
cost price of the watch is:

(1) 3,760 (2) 23,850

(3) 3,945 (4) 3,900 -

Find the cost of carpeting a room which is 11 m long and
6 m broad by a carpet which is 60 ¢m broad at the rate
of T112.50 per meter.

(1) R12,375 (2) %13,280

(3) 11,695 4) 312,040

A trader allows a discount of 8% on marked price. If the
selling price is 667, the discount in rupees is:

(1) %47 (2) T54

(3) 58 4) %43 ‘
Afieldis 119 m % 18 m in dimension. A tank 17 m x 6 m
x 3 m is dug out in the middle and the soil removed is

evenly spread over the remaining part of the field. The
increase in level on the remaining part of the field is:

(1) 14cm (2) 13cm

3) 15cm (4) 12cm

Divide 8,288 between A, B and C such that the
proportion of their shares is 5 : 7 : 9. The share of C is:
(1) 2,032 (2) %3,552

(3) 3,872 4) %2,612

If 15 men can do a piece of work in 14 days, how many
men will be needed to do the work in 30 days?

(H 8 2) 10
@3 7 @ 9

The interest on ¥24,000 in 2 years compounded annually
when the rates are 8% p.a and 10% p.a for two successive
years is: Sav
(1) %3,994 (2) 4,512
(3) 5,040 (4) 5,866

15— {5+24 + (3 x 9—15)} is equal to.

, { 1
m -2 @ U3

G) 6=

- “) 8




T%e angle of elevation of a flying drone from a point on
the ground is 60°. After flying for 5 seconds the angle of
zlzvation drops to 30°. If the drone is flying horizontally

=+ 2 constant height of 10004/3 m, the distance travelled

oy the drone is:
2000 m (2) 1000 m
3000 m (4) 4000 m

*n oil merchant has 3 varieties of oil of volumes 432,
$94 and 702 litres respectively. The number of cans of
cqual size that would be required to fill the oil separately

1) 13,15,17 @2y8, 11, 13

29.

30.

£33, 13 1§ @ 6,9, 11 31.
The table below shows the admission and transfer in
standards 1-3 of a school.
2015 2016
std | Existing |Admission| Transfer |Admission| Transfer 32.
1 232 12 8 23 36
2 241 6 11 15 10
3 248 16 13 21 24
In the given table, in Standard 1, how many students
were there at the end of year 20167
(1) 223 (2) 228
B) 236 4) 232
24. The average of squares of numbers 1 to 5 is:
()11 2 5
3) 8 -4) 9
. 210102 can be divided exactly by: 93
(1 7 ) 3
3) 4 “ 8 .
26. A pipe can fill a tank in 4 hours and a leak at the bottom
can-empty that full tank in 6 hours. If after the tank is
% full, the leak is completely closed, how much time from
beginning will it take for the tank to get filled completely?
(1) 12 hours (2) 4 hours
20
(3) 9 hours @) R hours
. In an examination, Shfeya score 84 out of 90 in
Mathematics, 45 out of 50 in Science, 23 out of 25 in
Computer Science and 68 out of 80 in English. In which
subject did Shreya score the highest percentage?
(1) Mathematics (2) English
(3) Science (4) Computer Science
(—4) x (1020 + 85 x 3—22) is equal to.-
(1) —402 (2) -56
(3) 912 @ 72
145

The value of cos?45° + sin? 30° — sin? 60° is equal to.

3 1
()2 @ 5
3) 0 @ 1

A, B and C are partners in a firm sharing profit in the
ratio of 3 : 4 : 5. Ifthey set aside 4% ofthe profits as
emergency find and shared the rest of the profit and B
gets his share of profit as ¥ 1,81,400, the amount of profit
set aside for emergency fund is:

(1) 27,845 (2) 18,140

{3) R22615 (4) 224,500

I k—-2P+(x—=3)+(x-10)*=(x-2) (3x—30), then
what is the value of x? :

1 7 @ 5

3) 18 4 3

In the triangle given above £ ADB =90°, # ABC=45°,
AD =10 cm, AC = 20 cm. The length of BC is :

A
B D T
(1) 10cm (2) 2732 cm
(3) 18.42cm (4) 1414 cm

The given bar chart, shows the sales (in thousands) for
sets of televisions of three companies in three years.

700
650

Onida Videocon

1960 w1591 w1992

In the given bar-chaft, if profit earned per television by
C in 1992 was T 825, the total profit earned was:

(1) 51150 lakhs (2) %5115 lakhs
(3) T511.5 lakhs (4) %51.15 lakhs

V
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35,

36.

3.

38,

39

40.

A gardener planted 1936 saplings in a garden such that  41.
there were as many rows of saplings as the columns.
The number of rows planted is:
(1) 46 (2) 44
(3) 48 4 42
A boy walks 15 m in 7 seconds and then walks backin5 42.
seconds. His average speed (in m/s) is:
1) .6 2) 255
(3) 3.25 @ 4
Ifand a3 + b>*=432 and a + b = 12, then (a + b)> — 3ab
is equal to: ‘
(1) 42 2) 52
3) 36 (4) 38, .
The given bar chart, shows the sales (in thousands) for
sets of televisions of three companies in three years. _

% ‘ @

600 5¢ S

550 :

508 - bews " S

450 i S B e

400 -

350 -

300

250

200 43.

150 - :

100 - _— -

58 § o
0 N
BPL Onida Videocon
1990 m1991 @1992
44,
In the given bar-chart, what is the ratio of television sales
between A in year 1992 and C in year 19917
(1) -1:1 2) 1:2
3 :2:1 4) 1:3
A swimming pool is 40 m in length, 30 m in breadth and
2.2 m in depth. The cost of cementing its floor and the
four sides at T25/m’ is:
(1) 43,980 : (2) %37,540
(3) 34,260 (4 337,700
The value of cot? A — sin? Ais equal to:
1 o e 45.
3) 2 “ 1
A river is 3 m deep and 36 m wide which flows at the :
rate of 5 km/h in to the sea. The volume of water that
rns into the sea per minute is:
(1) 8300m’ (2) 9000 m®
3) 7600 m’ (4) 6400 m®
: 146

A part of the journey is covered in 31.5 minutes at 80
km/h and the remaining part in 16 minutes at 75 km/h.

_ The total distance of the journey is:

(1) 45km . (2) 38km

(3) 62km (4) 54 km

The given pie-chart shows favourite sport of students of
a school. :

f] Criket

B Football
[J Basketball
B Hockey

In the given pie-chart, what is the difference in percentage
between liking for football and basketball?

(1) 10 ) 8
3 13 @ 12
A girl 1.2 m tall can just see the sun over a 3.62 m tall

wall which is 2.42 m away from her. The angle of
elevation of the sun is:

(1) 60° ) 30°

(3) 90° 4) 45°

The table below shows the admissions and transfers in
standards 1-3 of a school.

2015 - 2016
std | Existing |Admission| Transfer |Admission| Transfer
1] ° 232 12 8 23 36
2 241 6 11 15 10
3 248 16 . 13 21 24

In the given table, what was the total strength in Standards
1-3 at the end of 20157

(1) 723 ) 721
3) 710 4) 704
ABCD is a cyclic quadrilateral such that AB is a diameter
of the circle circumscribing it and angle ADC = 144°.

' L 99
Then angle BAC is equal to: (” = ——]

7
(1) 60° (2) 150°
(3) 54° 4) 40°




46. Which least number should be added tg 1000 so that the

A

number obtained is exactly divisible by 37? L@ |2 3 3. @) 4 @] 5. @
(1) 1 (2) 25 6. Bl 1 @ 8. M) | 9. @ | 10. 4
(3) 36 (4 13 . 1. @ | 12. @ B 1 @O B

. - The given pie-chart shows favourite sport of studentsof | 1¢. @1 17. @ 18. (2) 19. @) 20. 4)
aschool. : ‘12 @i2.@ | 220 % ] b
: 26 9 [ 27. (1) | 28.@® | 29. B | 30.03)

SPOrs el ol el a o 8o

36. 3) [ 37. ) | 38.4 | 39. @ | 40. 2

4. | 42. @ | 3.9 | 44 @) | 4503

[ Criket 46. 3) | 47. B | 48. (@ | 49. 1) | 50. @

*B Football

[J Basketball
M Hockey

11. SSC CPO SI EXAM PAPER-2018
Exam Time: 4:30 PM - 6:30 PM
Exam Date: 16/03 /2019

In the given pie-chart, if the school strength was 2500,

how many liked cricket more than hockey?
(1) 1075 2) 504
-(3) 900 @) 750 2

. A rectangular solid is 20 cm long and 12 cm wide. If its
volume is 2160 cm? the height is:

(1) 1lcm (2) 10cm
3) 12cm (4) 9cm
The table below shows the admission and transfer in

standards 1-3 of a school. 9
2015 2016
std | Existing |Admission| Transfer |Admission| Transfer
1 232 12 8 23 36
2 241 6 11 15 10
3 248 16 13 21 24

In the given tab[e, what was the diffefénce‘ between
admission and transfer in standard 3 in year 2016?

(1 3 (2) 9em3

3) 8 4 5

.~ A train 100 m long running at uniform speed crosses a
station which is 500 m long in 25 seconds. How long

will it take for the train to pass a station that is 380 m
long? :

(1) 21 seconds
(2) 20seconds
(3) - 19 seconds
(4) 22 seconds

3x7+4-6 +3-T+45 + 5x4+49is equal to:
(1) 99 (2) 101

3) 103 - 4 67

A steel vessel has a base of length 60 cm and breadth 30
cm. Water is poured in the vessel. A cubical steel box
having edge of 30 cm is immersed completely in the
vessel, By how much will the water rise?

(1) 12cm (2) 9cm

3) 10cm (4) 15cm

The given pie-chart, shows the percentage distribution

of the expenditure incurred in publishing a book. Study
the pie-chart and the answer the questions based on it.

- Various Expenditures (in percentage)
Incurred in Publishing a Book

15%
: | 1 Printing cost

Transportation Cost

[ Paper Cost

H Binding

[ Royality

Il Promotion Cost

vesl10%
o

20%—
25%

In the given pie-chart by what percentage the Promotion
cost’on the book is less than the Paper cost?

()75 (2) 50
(3) 25 4) 60




() =98
“3) 124

RIS

Ifa+b—c=7,ab—bc-—ca=21,vthena3+b3—c3+
3abc =

@) 98

@ 117

If two equal circles whose centres are O and O’ intersect

each other at the point A and B, OO’ =12 cm and AB =
16 cm, then radius of the circle is:

(1) 12cm (2) 15em :
(3) l4cm (4) 10cm
; 9
A boy increases his speed to 5 times of his original speed.

By thls he reaches his school 30 minutes before the usual
time. How much time does he takes usually?

(1) 67.50 minutes (2) 67.10 minutes

(3) 67.75 minutes () 67.25 minutes

The given bar chart, shows the sales of books (in thousand
number) from six branches of a publishing company
during two consecutive years 2000 and 2001.

Sales of Books {in th d bers) fram Six B hes-B1,82,B3,B4,B5
and B at a publishing Company in 2000 and 2001.

Sales (in Thousand numbers)

81 B2 83 B4 B5 B6

Branches W2001

32000

In the given bar-chart, the ratio of total sales of all

branches (in thousand numbers) for the year 2000 to

2001 is:

(1) 55:48 (2) 7411

(3) 45:58 (4) 48:55

X 15,000 was invested by A and B together to start a

small business. They got a profit of ¥2,000 at the end of

the year. B took his profit share of ¥600. How much did

A invest?

(1) %10,000

3) 1o, 500

Pipe Acan {

in 24 minutes. Ii both the pipes a

how many minutes should B Le closed, so that the tank

filledin 30 m
20 minutes {2)

D
()
(3) 21 minutes

(2) %2,000
(4) 9,000

3 tank i Hx DHM s and "‘

re m>cﬂcr§ Loud‘;u after

'N«ﬂi, 34

IS ,
{8 minutes

{4) 15 minutes

11

12,

13.

14.

15.

16.

18,

Sy 23

4x + a =0 are equal, thena =

(1 -8 2 4

3) 4 “ 3

If a sum becomes 1,460 in two years and ¥ 1,606 in

three years due to the compound interest, the annual rate
of interest is:

(1) 11% (2) 9%
3) 10% 4 8%
Fresh fruit contains 68% water and dry fruit contains

20% water. How much dry fruit can be obtained from
100 kg of flesh fruits?

(1) 80 (2) 60
(3) 40 4) 20

Side AB of a triangle ABC is 80 cm long, whose perimeter
is 170 cm. If angle ABC = 60°, the shortest side of triangle
ABC measures......... cm.

If roots of X2

€2), 21

3 17 4 15
(8+4-2)x(17-12) x 10 -89 is equal to:

(1) 4150 (2) 4120

3) 413 4) 411

When the integer n is divided by 7, the remainder is

(3) What is the remainder if 5n is divided by 7?

(1) o @2 3

3 2 @ 1

A earns %40 per hour and works for 12 hours. B earns
%60 per hour and works for 10 hours. F ind the ratio of
their per day wages.

(1)-4:5 2)5:4

3) 15:4 4 6:5

The perimeter of a square is equal to the perimeter of a
rectangle of length 16 cm and breadth 14 cm. Find the

circumference of a semicircle whose diameter is equal to
the side of the square.

(1) 2557 cm (2) 31.57cm
3) 2357 cm (4) 21.57 cm
The unequal side of an isosceles triangle i1s 2 cm. The

medians drawn to the equal vdu are perpendicular, fi’ze
area of the triangle is:

(1) I cm? (2)
 ;

(3) Scom?

WE$L e Y
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19:

20.

(1) 45.65m

21.

22,

The line graph shows the production of product A and B
(in thousands) during the period 2004 to 2009 and the
second line Graph shows the percentage sale of these
products.

wugmes PRODUCTION OF PRODUCT Afin '000)
=flil= PRODUCTION OF PRODUCT Bfin '000)

I3
14 5 ' &:%W %?3, zww‘f@? 4 :
: ¥ 12

2004 2005 2006 2007 2008 2009

wafes Yosate of A -l—'%sa!e of B

70 -
60 -
50 -
30 -
10 - :

2006 2007 2008 2009

2004 2005

In the given line graph. what is the total sale of Product _

A in the year 2005 and 2009 taken together?
(1) 17500 (2) 18500
(3) 14600 (4) 16400

When the sun’s angle of depression changes from 30° to :

60°. the length of the shadow of a tower decreases by 70
m. What is the height of the tower? :

(2) 60.55m

(3) 65.55m (4) 36.55m

If 20% of a = b, then b% of 20 is equal to:

(1) 4%ofa (2) 2% of a

() 16%ofa (4) 8%ofa

(coséc A-— sinA')2 + (secA — cosA)’ — (cotA — tan A)? is
equal to.
() 1
3) 0

@) 2
@) -1

24.

23,

26.

27

28.

29.

30.

3L

0.75x0.72x0.72 - 0.393x0.39x0:39

0.72x0.72+0.72x0.39 039030 s equal to:
(1) 033 : @) 0.45

A number is first decreased by 10% and then increased
by 10%. The number so obtained is 100 less than the
original number. The original number is:

(1) 100000 (2) 100

(3) 10000 (4) 1000

A man could not decide between discount of 3 0% or two
successive discounts of 25% and 5%, both given on a
shopping of ¥2,000. What is the difference between both
the discounts?

(1) %15 (2) Nodifierence

3) %20 4 %25

At what rate percent per annum with simple interest will
a sum of money double in 12.5 years?

(1 8 ) 10

(3) 125 4. 6

The LCM of two numbers is 168 and their HCF is 12. If

the difference between the numbers is 60. what is the
sum of the numbers?

(1) 122 (2) 164
@Gy 112 %) 108
If x + x7'=2, then the value of x* + x2 is:
(1) 3 @ 5

2
3) 1 4) 2

A unique circle can always be drawn through x number
of given non-collinear points, then :6 must be:

(1 1 24

(3) 2 “ 3

The speed of a car increases by 2 km/h altervevery one

hour. If the distance travelled in the first one hour was
35 km, what was the total distance travelled in 12 hours?

(1) 558 km () 650 km

(3) 560 km (4) 552km

Seema bought a mobile at a discount of 20%. Had she
received -a discount of 25%, she could have saved
additional ¥1000. How much did she pay for the mobile?
(1) %24,000 : (2) 22,000

(3) 25,000 (4) %20,000

s
]

.
b
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32. Theaverage weight of 16 boys in a class is 60.25 kgand 37. The given pie-chart, shows the percentage distribution

33

34.

3.

36.

that of the remaining 10 boys is 45.75 kg. The average
weight of all boys in the class is:

(1) 54.67 (2) 53.76

(31 55,37 (4) 56.27

The line graph shows the production of product A and B
(in thousands) during the period 2004 to 2009 and the
second line Graph shows the percentage sale of these
products.

wapms PRODUCTION OF PRODUCT Alin "000)
=ili= PRODUCTION OF PRODUCT B(in 000}

o s 4
il 7 2

2004 2005 2006 2007 2008 2009

s Y5 ale of A —fil=sale of B

90 -
80 -
70 -
60 -
50
40
30
20

- 10 ‘

‘0 ; 7 < e ;

2004 2005 2006 2007 2008 2009

£ okl | i

In the given line graph, what is the total sale of Products
A and B in the year 2007?

(1) 13460 () 10290
(3) 11500 (4) 12490

A cube of side 1 m length is cut into small cubes of side
10 cm each. How miany such small cubes can be obtained?

(1) 10 (2) 100
(3) 10000 (4) 1000 41.
A sells a car to B at 10% loss. If B sells it for ¥5,40,000
and gains 20%. the cost price of the car for A was:
(1) 5,10,000 (2) T5,40,000
(3) %5,20,000 (4) %5,00,000
Ifa+b=8,ab=-12,thena’+b’=
(1) 244 (2) -833
(3) 800 4) 833
' 150

38.

39.

40.

of the expenditure incurred in publishing a book. Study
the pie-chart and the answer the questions based on it.

Various Expenditures (in percentage)
Incurred in Publishing a Book

Printing cost -
Ed Transportation Cost
I Paper Cost ]
B Binding

[ Royality

B Promotion Cost

In the given pie-chart, by what percentage Printing and
Binding cost on the book is less than the other costs?

50 100
L 5 @) =

4 2
® 5 w3

g-tanz 60°+3cos? 30°~2sec? 30°—%cot2 60° is equal to:

8
@ 3 ® 3

) 10 |
G) 3 @ 3

The average of 26 numbers is zero. Of them, how many
may be greater than zero, at the most?

1) o ) 25

3) 20 4 15

What will be total cost of polishing curved surface of a
wooden cylindér at rate of ¥20 per m?, if its diameter is
40 cm and height is 7m?

(1). X186 2) 184

3) %175 @) 2176

A can do a work in 20 days, while B can do the same
work in 25 days. They started the work jointly. Few days
later C also joined them and thus all of them completed
the whole work in 10 days. All of them were paid total of
%700. What is the share of C?

(1) %715 (2) 55

(3) T70 (4) 265
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Instructions

The given bar chart. shows the sales of books (in thousand
number) from six branches of a publishing company
during two consecutive years 2000 and 2001.

Sales of Books {in thousand numbers) from Six Branches - B81,82,B3,84,B5
and B6 at a publishing Company in 2000°and 2001.

i 105

Sales (in Thousand numbers) -

82 B3 B4 BS 86
El2000  W2001

Branches

-2. In the given bar-chart, total sales of branches B1, B3

and BS5 taken together for both the years (in thousand
numbers) is: ;

(1) 560 2) 240

(3) 310 ) 650

. Inthe given bar-chart, the ratio of total sales of branches
B1, B3 and B5 to total sales of branches B2, B4 and B6
taken together for both the years (in thousand numbers)
is:

(1) 45:23 (2) 47:56

(3):56:47 (4) 23:45

. From a point P on a level ground, the angle of elevation

of the top of a tower is 30°. If the tower is 270 m high.
the distance of point P from the foot of the tower is:

() 476.65%
@) 367.65m
(3) 467.65m
@) 376.65m

3. The product of twb numbers is 6760 and their HCF is
13. How many such pair of numbers can be formed?

@)1 (2 2
@3) 3 “ 4
12 buckets of Water fill a tank when the capacity of each
bucket is 13.5 litres. How many buckets will be needed

to fill the same tank. if the capacny of each bucket is 9
litres?

(1) 18
3) 15

) 16
@) 17

47.

48.

49.

The line graph shows the production of product A and B
(in thousands) during the period 2004 to 2009 and the
second line Graph shows the percentage sale of these
products.

e PRODUCTION OF PRODUCT Alin '000)

=i~ PRODUCTION OF PRODUCT B{in '000)

2004 2005 2006 2007 2008 2009

sy Y ale Of A == %sale of B

90
80 -
60

50 -
40 - :
30N . ‘
20 - ) '
10 -
0 s ;

2004 2005 2006 2007 2008 2009

In the given line graph, what is the total sale of Product
B in the year 2004 and 2008 together?

(1) 12500 (2) 14600

(3) 11950 (4) 11825

Original breadth of a rectangular box is 20 cm. The box
was then remade in such a way that its length increased
by 30% but the breadth decreased by 20% and the area
increased by 100 cm?. What is the new area of the box?
(1) 2500 cm? (2) 2200 cm?

(3) 2400 cm? (4) 2600 cm?

3 men, 4 women and 6 children can complete a work in
7 days. A woman does double the work a man does and
achild does halfthe work a man does. How many women
alone can complete this work in 7 days?

(1) 6 @) 8
3y 9 - @) 7

| Visi

t : www.Allpdf.in



50. The given pie-chart shows the percentage distribution of

the expenditure incurred in publishing a book. Study the 1@ 2. (45 ‘ 3 @) LA ) 5. (4)

pic-chart and the answer the questions based on it. 6 ()7 @ 8 Gy Lo 0y | '10. 2

Various Expenditures (in percentage) o Rl (3) 112. 3 | 13.3) | 14 @ | 15
Incurred in Publishing a Book 6 (1)" 0 18. 2) 19 @ 20, |

, 0% o laamli2. @ | 2.0 L 24 @ | 254

15% > - 26. ()| 27. 4 | 28. @ | 29 @ 1 30.(4)

“¢10% Printing cost 3. @ | 32. 33.2) | 34 @ | 35 Q)

® EJ Transportation Cost =1 >
O I Paper Cost 36. 3) | 37. 2 | 38.4 1 39. (2) ’ v40,. @A)
25% H Binding 41. 3) | 42. (1) 43. (3) 4. 3 | 45.(2)
[ Royality ; b : T .
% | B Promatior Cost v 46.» a) I 47. 4) 48. (4) 7 49. (4) 50. (2):

In the given pie-chart, by what percentage the Royalty

on the book is less than the Printing cost?

(1 20 @ 25 A : o
3) 10 @ 15 ' : " %PU

——
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